Unit 1. Family

Exercise 1. Learn the following words and word combinations.

Monogamy – моногамія

polygamy – полігамія

polygyny – поліганія

polyandry – поліандрія

arrangement – улаштування

divorce – розлучення, розлучатися

engage – залучати, вступати (в стосунки)

powerful impact – потужний вплив

authority – авторитет, повноваження, вплив, значення

diminish – зменшувати

emotional gratification – емоційне задоволення

count on (upon) – розраховувати на щось

flock – триматися вкупі, рухатися юрбою

generation – покоління

shelter – притулок, крівля
Exercise 2. Read and translate text 1.

Text 1. Family forms and functions

The family as a social institution is universal. The universality of the family in every society testifies that it meets essential human needs: to love and be wanted, to give rise to children, to rear them until they become independent, and to preserve property rights.

But the form family takes and the functions it performs vary widely over time and among societies. These different arrangements seem as natural to the people who practice them as our family system does to us.

People say, the word “marriage” is synonymous with monogamy – marriage involving only one woman and one man. Although we recognize that  such unions may not last, we assume that monogamy is the ideal in most societies and cultures. Not so. Monogamy is the preferred form of marriage in only 25 percent of the word’s societies.

In the other 75 percent of human societies, the preferred arrangement is polygamy – marriage involving more than one wife or husband at the same time. Most often this takes the form of Polygyny, marriage of one man to two or more women. Polygyny was practiced in ancient China., hardly a small, primitive society. It is part of Judeo-Christian cultural history. And Islam, the second largest religion in the world today, allows a man four wives ( providing he treats each wife equally). In contrast, only four societies have been reported in which polyandry – marriage of one woman to two or more men – is the norm.

Group marriage – marriage of two or more men to two or more women at the same time – is the rarest family type. Indeed, there has been some debate about whether this arrangement exists at all. 

More than half of  first marriages  end in divorce today. Most divorced people remarry, however. Even when the second marriages end in divorce, most of these people try marriage a third time. Thus, some People practice serial monogamy: one exclusive, legally sanctioned, but relatively short-lived marriage after another.

Family functions, like family structures, vary widely. In most traditional, preindustrial societies, the family performs four functions. The first is the regulation of sexual activity. No society leaves people free to engage in sexual behavior whenever they want. 

The second function of the family ( which follows from the first) is reproduction. The family bears primary responsibility for replacing members of society who have died or emigrated, thus keeping society “alive” from generation to generation.

The third function is the socialization of children. It is not enough to produce children; they must be given physical care and trained for adults. The family bears primary responsibility for teaching children the language, values, norms, beliefs, technology, and skills of their culture.

The fourth function of the family is economic. The family bears primary responsibility for providing for physical needs of both young and old members, including food, shelter, protection, and health care.

 In modern, industrial societies, some of these traditional functions have either changed or been taken over in part by other instructions. During the so-called sexual revolution of the 1960s and early 1970s, sex lost not only its biological connection to reproduction but also its normative connection to marriage. 

The family’s role in socialization has changed significantly. In traditional societies, family members teach young people all they need to know a life that will resemble their parents’ lives.  In modern societies like our own. Schools (including colleges and universities) have taken over responsibility for preparing young people for occupation roles. The mass media also have a powerful impact on young people. Much of the debate over “family values” concerns whether the schools and the media have usurped the family’s authority over children. 

While many of the family’s functions have diminished, one that has become increasingly important is emotional gratification.  For most of us, the family is the group we count on to satisfy emotional needs on a continuing basis. We expect – or feel we have a right to expect – to find understanding, companionship, and affection at home. 

Exercise 3.  Answer the following questions.

1. What is the universality of the family in every society? 2. What forms of marriage exist in the world’s societies? 3. What union is the most commonly practiced form of marriage in the world? 4. What forms of polygamy are practiced in different cultures and religions? 5. What group marriage is the rarest family type? 6. How many functions does the family traditionally perform? 7.  What family functions have changed and why? 8. What family’s function has become increasingly important in modern society?

Exercise 4. Find the English equivalents in the text.

Людські потреби, соціальна інституція, моногамия, людське суспільство, полігамія, розлучення, регуляція сексуальної активності, репродуктивність, медична допомога, основна відповідальність, сімейні цінності.

Exercise 5. Give Ukrainian equivalents to the following word combinations.

Social institution, property rights, human societies, serial monogamy, sexual behavior, primary responsibility, physical needs, biological connection, powerful impact, family values.

Exercise 6. Fill the gaps with the words given in brackets below and translate the sentences.

1. People say, the word “marriage” is synonymous with … - mariage involving anly one woman and one man.

2. Most often … takes the form of polygyny, marriage of one man to two or more women.
3. People practice … … : one exclusive, legally sanctioned, but relatively short-lived marriage after another.
4. The family bears primary responsibility for providing for … … of both young and old members.
5. While many of the family’s functions have diminished, one that has become increasigly importaut is … .

     (Polygamy, serial monogamy, physical needs, emotional gratification, monogamy).

Exercise 7. Translate into English.

1. Універсальність сім’ї у кожному суспільстві свідчить про те, що вона задовольняє основні людські потреби: любити і бути необхідними, ростити дітей, виховувати їх допоки не стануть самостійними і зберігати власні права. 2. У більшості традиційних суспільств сім’я здійснює чотири функції: регуляцію сексуальної діяльності, репродуктивну функцію, соціалізацію дітей, економічну функцію, яка полягає в забезпеченні фізичних потреб членів сім’ї. 3. У сучасних промислових суспільствах деякі з цих традиційних функцій або змінились, або перейшли до повноважень інших установ. 4. Надзвичайно важливою функцією сім’ї у сучасному суспільстві стала функція емоційного задоволення. 5. Сім’я  несе пряму відповідальність щодо забезпечення фізичних потреб як молоді, так і людей похилого віку, включаючи забезпечення їжею, житлом, медичною допомогою, захистом.

Exercise 8. Learn the following words and word combinations.

Mourn – сумувати, жаліти за чимось

scholarly research – наукові дослідження

extended family – розширена сім’я

nuclear family – нуклеарна сім’я

maintain – утримувати; дбати

household – сім’я, родина

violence – насильство

vicious pattern – хибний взірець

abuse – ображати

egalitarian marriage – рівний шлюб

residence – помешкання, місце проживання

multigenerational family – сім’я, що складається з декількох   поколінь

vocational skills – професійна майстерність

Exercise 9. Read and translate text 2. 

Text 2. The family structure.

The family is currently the subject of much scholarly research. Some observers view changes in the family as characteristic of an institution that has always been subject to historical forces.

In the 1950s and early 1960s, when those couples who could afford to were flocking to the suburbs and single-family homes, many people mourned the death of the big, multigenerational families of the past, where grandparents were the heads of the household, everyone worked together, and children grew up respecting their elders. This is what sociologists call an extended family: members of three or more generations, related by blood or marriage, who live together or in close proximity. 

The family produced and preserved its own food; repaired its own equipment; educated its young in vocational skills,  settled its own disputes; and cared for its own sick, disturbed, and elderly members. 

 Ironically, multigenerational family in the 1950s  and 1960s may have had longer and closer relationships with their extended family than at the turn of the century. In a classic study of middle-class urban families in the 1950s over 90 percent received some kind of aid from extended family members.  Direct financial aid (say, the down payment for a house), indirect financial aid (a gift of a major appliance or a savings account for grandchildren), help during illness, and baby-sitting were all cited. In most cases aid flowed from parents to children, but adult children also helped their parents and one another. It did not seem to matter how far apart members of the family lived; they came to one another’s aid when the need arose. 

 Family ties remain strong. The result is the modified extended family: a network of relatives who live in separate residences, often miles apart, but maintain ties. These interlocking families often provide significant aid to one another. But their feeling of being connected does not depend on living near one another, working together, or falling under the authority of a strong parent, as in classical extended families. 

The ideal family type in this era was the nuclear family, consisting of a husband, his wife, and their dependent children living in a home of their own. In the ideal nuclear family, the husband/ was the sole breadwinner. Each morning he went off to work for a corporation or branch of government (not, as in generations past, for a family-owned enterprise). Although still the head of his household, he worked for somebody else. The wife/mother was a full-time homemaker.

Exercise 10. Translate word combinations with the term “family”.

Single-family homes; extended family; modified family; multigenerational family; single-parent family; urban family; middle-class family; interlocking families; nuclear family; family-owned enterprise.

Exercise 11. Make up sentenses with the following words and translate them.     


Household, generation, relationship, residence, breadwinner, homemaker, aid, parents.

Exercise 12. Match the synonyms.

	1. family

2. house

3. homemaker

4. aid

5. residence

6. maintenance

7. proximity
	1. relief

2. housewife

3. houshold

4. support

5. home

6. vicinity

7. apartment


Exercise 13. Find in the text the English for:

голова сім’ї; поважати старших; поблизу; бути зв’язаним шлюбом; тісні взаємовідносини; жити далеко; підтримувати зв’язки; окреме помешкання; міські сім’ї; надавати значну допомогу; діти, що перебувають на утриманні батьків; єдиний годувальник.

Exercise 14. Translate into English.

1. Сім’ю, членами якої є три або більше поколінь, пов’язаних між собою кровними зв’язками або шлюбом і які живуть разом або безпосередньо поблизу, соціологи називають розширеною сім’єю. 2. За іронією, сім’ї, що складались з представників декількох поколінь, у 1950х та 1960х роках мали більш тривалі та близькі взаємовідносини з членами своєї родини, ніж на початку століття. 3. Модифікована поширена сім’я являє собою мережу родичів, які живуть у окремих помешканнях, часто на відстані декількох кілометрів, але підтримують зв’язки між собою. 4. Зв’язки членів модифікованої поширеної сім’ї не залежать від того, чи живуть вони поблизу, чи працюють разом, чи є близькими родичами. 5. В ідеальній нуклеарній сім’ї чоловік був єдиним годувальником і головою своєї родини.

Exercise 15. Answer the following questions.

1. What family do sociologists call an extended family? 2. What was the arrangement of an extended family? 3. What is modified extended family? 4. What family type is called the nuclear family? 5. Why is the nuclear family considered to be the ideal family type in this era?

Exercise 16. Learn the following words and word combinations. 

Experience – життєвий досвід

influence – впливати

odds – решта

premarital relationships – дошлюбні відношення

reveal – виявляти

prone – схильний

cohabitation – сумісне проживання

lay off – звільнення з роботи

same-faith marriage – шлюб між представниками однієї віри

interfaith marriage – шлюб між людьми різних вірувань

oppose – противитися, чинити опір

unemployment – безробіття

Exercise 17. Read and translate text 3.

Text 3. Family in divorce

Social and economic conditions have changed dramatically since the 1950s. The numbers of  single people living alone, single parents, married couples with no children (or no children living at home), and unmarried couples living together have grown steadily. Furthermore, nuclear families have changed. Most two-parent families today have two or fewer children; very likely, the mother is employed outside the home; and the odds are about 50-50 that the parents will divorce before the children grow up. 

What can sociology reveal about divorce? At current rates, at least half of marriages formed today are likely to end in divorce. But all marriages do not have an equal chance of success or failure; some segments of our population are more prone to divorce than others. 

The likelihood of divorce depends, first, on age at first marriage. Couples who get married in their teens are twice as likely to get divorced as are couples who marry in their twenties. Not only are young marrieds more likely to be poor and they are more likely to have rushed into marriage because of an unhappy family life or because of a premarital pregnancy.

Socioeconomic status is also correlated with divorce. Divorce rates are highest in lower socioeconomic groups, and decline as one moves up the socioeconomic ladder. Presumably this is because poor families experience more stress than do families who are better off. 

Race is another factor of in divorce. Most studies report that black couples are more likely to separate or divorce than are white couples. The main reason is that black men and women are more likely to be young and poor when they marry. 

A fourth factor in divorce is religion. Interfaith marriages tend to be less stable than same-faith marriages – whether because these couples are more unconventional to begin with or their families oppose the marriage, or other reasons.

A fifth factor is children. Childlessness is associated both with higher rates of divorce and speedier divorces.

Other factors that influence divorce include premarital births (which increase the chances of divorce), cohabitation (which reduces the chances  that a marriage will last), the length of time the couple knew each other before marriage (two years appears to be optimal), the divorce of their own parents, and the influence of their friends and family.

Why did divorce rates rise steadily in the late 1960s and the 1970s and then stabilize at relatively high levels in the 1980s?  

There is no simple explanation for high divorce rates, but several contributing factors stand out. One was changes in the divorce laws: No-fault divorce made it easier and faster to end a marriage. The movement of women into the labor force was another factor – in part because jobs made women feel freer to divorce. At the same time, men’s position in the labor force was weakened: middle-class men struggled to maintain the relatively high standard of living their parents enjoyed; increasing numbers of working-class men experienced lay-offs and long spells of unemployment; and poor men found it harder and harder to break into the working class.

The third factor in changes in the divorce rate is cultural: a general shift from faith in institutions to concern with individual fulfillment. Many couples want both togetherness and individual freedom – a difficult balance to achieve.

In addition, formal marriage may have lost some of its cultural significance. The distinctions between cohabitation and marriage and between premarital and marital childbirth are becoming increasingly blurred.

Recent analysis show that children growing up in  single-parent households, whether the parents were never married, are separated, or are divorced, have twice the risk of dropping out of high school, of being out of work, and of becoming teenage parents themselves.

Separation and divorce are obvious stressors for children. 

The 1988 U.S. National Health Interview Survey reveals similar epidemiologic findings: children living with single mothers or with mothers and stepfathers are more likely than those living with both biological parents to have to repeat a grade at school, to be expelled from school, to be treated for emotional or behavioral problems, and to have elevated scores for behavioral problems and health risks. 

Exercise 18. Match the equivalents.

	1. married couple

2. single-parent family

3. two-parent family

4. better-of family

5. poor family

6. interfaith marriage

7. cohabitation

8. socioeconomic status

9. same-faith marriage

1. premarital births
	2. бідна сім’я

3. повна сім’я

4. одружена пара (подружжя)

5. сумісне проживання

6. неповна сім’я

7. краще забеспечена сім’я

8. дошлюбні роди; народження дитини до шлюбу

9. шлюб між представниками однієї віри

10. соціальноекономічний статус

11. шлюб між представниками різних вірувань


Exercise 19. Match the synonyms and synonymous world combinations.

	1. single parents

2. cohabitation

3. two-parent family

4. separation

5. poor family

6. separated couples

7. rich household

8. employed parents

9. lay-off

10. faith
	1. nuclear family 

2. divorced couples

3. divorce

4. togetherness

5. well-off household

6. low income family

7. unmarried parents

8. firing

9. working parents

10. religion




Exercise 20. Translate the antonyms.

Single – married, employment – unemployment, success – failure, premarital – marital, married – separated, togetherness – loneliness, poor – well-off.

Exercise 21. Translate and comment upon the grammar forms.

Have changed; living together; is employed; will divorce; are likely to end in divorce; depends on age; are more likely to be young and poor; was weakened; the risk of being out of work; are prone to divorce; experienced lay-off; are divorced; to be expelled; living with parents; tend to be stable.

Exercise 22. Translate into English.

1. Велика ймовірність розлучення залежить від віку тих, що вступають у шлюб, соціальноекономічного статусу, расової і релігійної приналежності, відсутності дітей. 2. Виділяють інші фактори, що впливають на розлучення: зміни у законах про розлучення, процес якого став більш легким і прискореним, послаблення позиції чоловіків на ринку робочої сили, тяжіння до незалежності. 3. Третім фактором зміни показників розлучень є культурне загальне зрушення від сподівань на різні інституції  до покладання на власні сили. 4. Недавні опитування показують, що діти, які зростають у неповній сім’ї, вдвічi більше мають ризик не одержати вищу освіту, залишитися без роботи, або стати батьками у ранньому віці. 5. Кількість самотніх людей, поодиноких батьків, подружніх пар, що не мають дітей, неодружених пар, які живуть разом постійно зростає.
Exercise 23. Comment upon the statements.

1. All marriages do not have an equal chance of success or failure.        2. The likelihood of divorce depends on age at first marriage. 3. Other factor that influence divorce include the length of time the couple knew each other. 4. Many couples want both togetherness and individual freedom. 5. Divorce rates are highest in lower socioeconomic groups.   6. Interfaith marriages tend to be less stable than same-faith marriages.

Exercise 24. Answer the following questions to text 3.

1. How have nuclear families changed? 2. What factors influence divorce? 3. What are the causes and consequences of today’s high divorce rate? 4. How have divorce rates changed? 5. How does divorce influence children?

Exercise 25. Learn the following words and word combinations. 

Spouse – чоловік, жінка

ban – забороняти

respite care centers – центр реабілітації

telephone crisis counseling – телефон довіри у кризових ситуаціях

child abuse prevention education – освітній курс щодо захисту дітей

injury – образа

embolden – підбадьорювати

violence – насильство

vicious pattern – хибний взірець

abuse – ображати

egalitarian marriage – рівний шлюб 

Exercise 26. Read and translate text 4.

Text 4. Family violence

Marriages end every day, for all sorts of reasons – of which violence is one. Not all families learn to work out their problems. Sometimes family problems can explode into violence. Twenty percent of all murders in the United States involve people who are related. Often people learn violence from their mothers or fathers. These people repeat the vicious pattern by abusing  their children or beating their wives. There are also cases of wives abusing their husbands. Violence in the family is a serious problem.

Structural changes in the family and society as a whole may also have contributed to the decline in the family violence. Late marriages, egalitarian marriage, and wanted children are all associated with a lower risk of family violence. Equally important, polices toward family violence have changed, and the number and variety of programs for treating abusers and victims have increased. All states now have laws that make reporting child abuse or neglect mandatory. Police manuals used to recommend that officers summoned to the scene of domestic violence separate the warring parties and leave; now must require that  man who has beaten his wife be arrested. The number of shelters for battered women and their children increased from a mere 4 in 1975 to more than 1.000 in 1985 (to about 1.500 in 1993). The number of family therapists tripled in the 1980s. Self-help groups for abusive parents and battered spouses have been formed. Most local communities now have respite care centers, telephone crisis counseling, parent education services, child abuse prevention education, and home visiting services. While these services do not begin to meet the need, they provide some troubled families with alternatives and may embolden victims of family violence to take steps on their own. But we are still a long way from becoming a society that bans the use of physical force and injury in the home. Sweden did outlaw spanking in 1979, and there is no evidence that this led to a whole generation of spoiled children. Most Americans would consider such a law an invasion of family privacy, but that is just the point. There is no penalty for using corporal punishment in Sweden. Rather, the law allows grandparents, neighbors, and strangers to intervene when they see a child being abused. Sweden also provides families with a wide range of social and economic supports. The level of family violence is much lower in Sweden than in the United states.

Exercise 27. Give Ukrainian equivalents


Repeat pattern; are associated with risk; used to recommended; meet the need; provide with alternatives; may embolden victims; take steps; ban the use of physical force; use corporal punishment; provide support.

Exercise 28. Answer the following questions.

1. What are the causes of violence? 2. Is family violence increasing or decreasing, and why? 3. What social services must meet the need of troubled families? 4. What social policies can support the family and change family life? 5. What is the role of family life education for success in marriage?

Exercise 29. Distribute the following words according to the part of speech into separate groups; define their suffixes where possible; translate them.


Marriage, all, sometimes, can, into, often, violence, of, structural, society, unemployment, these, troubled, may, local, serious, egalitarian, lower, equally, toward, treating, abuser, and, whole, invasion, punishment, abusive, abuse, begin, than, neglect, much, use.

Exercise 30. Say it in English.


Насильство; хибні приклади; структурні зміни; рівні шлюби; ризик насильства у сім’ї; домашне насильство; образа дитини; прибуток; центр реабілітації; телефон довіри у кризових ситуаціях; приблемні сім’ї; служби, що займаються вихованням батьків; соціальна та економічна підтримка; жінки, що потерпають від побоїв; програми відносно ображчиків та жертв.

Exercise 31. Finish the following statements.

1. Sometimes family problems can explode into … . 2. Structural changes in the family and society as a whole may also have contributed to … . 3. The number and variety of programs for … have increased. 4. Most local communities now have … . 5. Late marriages, egalitarian marriage, and wanted children are all associated with … . 6. All states now have laws that … .

Exercise 32. Translate into English.

1. Пізні шлюби, рівні шлюби, бажані діти – все це асоціюється з більш низьким ризиком сімейного насильства. 2. Більшість місцевих громад мають центри реабілітації для жертв сімейного насильства, телефони довіри у кризових ситуаціях, служби по вихованню батьків, освітні курси щодо захисту дітей від насильства та служби, що відвідують сім’ї і наглядають за сімейними стосунками. 3. Реконструкція сім’ї повинна починатися з економічної та правової політики для сприяння формування і стабільності сім’ї, навчальний курс у громадських школах щодо відповідальності батьків. 4. Політика працевлаштування повинна стати чинником потреб сім’ї у соціальному вирівнюванні співвідношення витрат і доходів. 5. Федеральний уряд повинен застосувати політику повної робочої зайнятості , щоб надати молодій людині можливість одержувати заробітню плату, достатню для у тримання сім’ї. 6. Політика всебічної допомоги сім’ї повинна забезпечувати пристойний рівень життя, охоплювати як повні безробітні сім’ї, так і неповні, надавати субсидії родинам з низьким рівнем доходів, гарантувати доступність лікування, проводити роботу з підвищення кваліфікації робітників.

Exercise 33. Learn the following words and word combinations. 

Income – прибуток

well-off intact family – заможна повна сім’я

single-parent family – неповна сім’я

middle-income households – сім’я, що має середній дохід

medical insurance – медичне страхування

promote – сприяти

take into account – брати до уваги 

enhance – збільшувати

benefit – допомога, прибуток

encourage – заохочувати
Exercise 34. Read and translate text 5.

Text 5. Social policies can support the family
What social policies can support the family and promote child health in a world in which family life has been changing so rapidly? Reconstruction of the family must begin with economic and legal policies to promote family formation and stability, and education in public schools for responsible parenting.

Employment policy must factor family needs into the social cost-benefit equation. Work patterns must be designed to enhance family life; they should include flexible schedules, alternative work locations, and part-time work. It is essential to guarantee that fringe benefits are lost in the process. Employment patterns must be redesigned to take into account the needs and preferences of employees. Work schedules should encourage the participation of both men and women in family-oriented programs.

The federal government must implement a full-employment policy to give young adults who enter the labor market incomes sufficient to support families. Increasing the minimum  wage is merely the first step. At present, poor two-parent families receive less help than do well-off intact families or single-parent families. Nearly all middle-income households receive tax-subsidized medical insurance through work; single mothers in poverty are eligible for Medicaid. There is no safety net for poor two-parent families. A comprehensive family assistance policy should provide a decent basic living standard, cover unemployed two-parent as well as single-parent families, subsidize low-income housing, assure access to health care, and provide work training to enhance adult skills. 

Six month of paid leave after childbirth or adoption, already the case in Sweden, should be available here for either parent with guaranteed job protection. Paid parental leave permits infant care in the home and provides an opportunity for care givers to learn to become competent parents; skillful parenting is not instinctive. Payment to single mothers should guarantee a decent standard of living in conjunction with subsidized housing. Family benefits will not solve the problem of too little time, or end loneliness. They will halt the superimposition of poverty on other life stresses.

Both parents should take  responsibility for children. Nonresident fathers who are employed should be expected to share their income with their children; child support awards should be vigorously enforced. Security for mothers and children could be assured by a guaranteed minimum child support benefit paid directly by the government and recouped from the father so far as possible. Unlike welfare, a guaranteed child support benefit would not depend on the mother’s   income, and therefore would not be reduced if the mother worked.

Will these policies bring about a Golden Age of the Family? Clearly not. They will cushion children against neglect and misfortune. Providing the best care we know how to give is no guarantee of a trouble-free future. Nothing is. But it will increase the likelihood that  our children will be more competent than we have been at managing the affairs of the world.

Exercise 35. Find the English equivalents of the following word-combinations in text 5.

Соціальна політика; економічна і правова політика; політика зайнятості; програми, зорієнтовані на сім’ю; ринок труда; сім’ї середнього достатку; медичне страхування; гідний рівень життя; виплати одиноким матерям; відповідальність за дітей; фінансові стягнення за рішенням суду по утриманню дитини; медична допомога; гарантована фінансова допомога; федеральний уряд; неповна робоча зайнятість; оплачувальна відпустка.

Exercise 36. Translate and comment upon the grammar forms.  
Can support and promote; has been changing; must factor; must be designed; should encourage; should be available; provides; to learn; standard of living; will solve; could be assured; benefit paid by the government; a guaranteed support; would not depend; would not be reduced; providing the care.

Exercise 37. There are some answers. What are questions?

1. Reconstruction of the family must begin with economic and legal policies to promote family formation and stability, and education in public schools for responsible parenting. 2. Work patterns should include flexible schedules, alternative work locations, and part-time work. 3. The federal government must implement a full-employment policy to give young adults who enter the labor market incomes sufficient to support families. 4. A comprehensive family assistance policy should provide a decent basic living standard, cover unemployed two-parent as well as a single – parent families, subsidize low-income housing, assure access to health care, and provide work training to enhance adult skills. 5. Payment to single mothers should guarantee a decent standard of living in conjunction with subsidized housing. 6. Six mouth of paid leave after childbirth or adoption should be available for either parent with guaranteed job protection. 7. Security for mothers and children could be assured by a guaranteed minimum child support benefit paid directly by the government and recouped from the nonresident father so far as possible.
Exercise 38. Give the Ukrainian equivalents from texts 1-5.

Social institution; property rights; strict ban; bear responsibility; premarital relationships; weave into the fabric of everyday life; become obsolete; occupation roles; day care centers; nurturant socialization; multigenerational families; rest on self-sufficiency; close-knit community; middle-class urban families; interlocking families; full-time homemaker; out-of-wedlock births; slip into poverty; breadwinner-housewife families; experience lay-offs and long spells of unemployment; tax-subsidized medical insurance; provide a decent basic living standards; child support awards.

   Exercise 39. Match the word combinations in the left column with their Ukrainian equivalents in the right column.

	1. social policy

2. emotional gratification

3. same-faith marriage

4. extended family

5. respite care center 

6. egalitarian marriage

7. well-off intact family

8. child abuse prevention education

9. single-parent household

10. premarital relationships

11. nuclear family

12. interfaith marriage

13. emotionally immatur

14. intimate environment

15. foster home

16. telephone crisis  counseling

17. middle-income households

18. divorced parents

19. divorce rate

20. family violence
	1. шлюб між представниками однієї віри

2. розширена сім’я

3. рівний шлюб

4. соціальна політика 

5. емоційне задоволення

6. неповна сім’я

7. центр реабілітації

8. нуклеарна сім’я

9. емоційно незрілий

10. шлюб між людьми різних вірувань

11. дружнє середовище

12. освіта щодо захисту дітей

13. дошлюбні відношення

14. служба телефона довіри

15. розлучені батьки

16. коефіцієнт розлучення

17. виховний заклад для дітей

18. заможна повна сім’я

19. насильство у сім’ї

20. сім’я, що має середній дохід


Exercise 40. Match the terms and the definitions.

	Family

monogamy

polygamy

polygyny

polyandry

nuclear family

extended family 

serial monogamy

modified extended family

group marriage
	Marriage involving only one woman and one man

social institution

marriage involving two or more men to two or more women at the same time

family of three or more generations

marriage of one man to two or more women

one legally sanctioned, but relatively short-lived marriage after another

family, consisting of a husband, his wife, and their children living in a home of their own

marriage of more than one wife or husband at the same time

network of relatives who live in separate residences but maintain ties

marriage of one woman to two or more men


Exercise 41. State whether the following sentences are true or false. 

Correct the false ones.

1. Monogamy is the preferred form of marriage in 75 percent of human societies. 2. Islam, the second largest religion in the world today, allows a man only one wife. 3. The society bears primary responsibility for teaching children the language, values, norms, beliefs and skills of their culture. 4. In multigenerational families of the past grandparents were the heads of the household, everyone worked together, and children grew up respecting their elders. 5. All marriages have an equal chance of success or failure. 6. Divorce rates are highest in lower socioeconomic groups, and decline as one moves up the socioeconomic ladder. 7. Two-worker families may experience less role conflicts than breadwinner-housewife families. 8. The level of family violence is much lower in the United states than in Sweden. 9. Social policies can support the family and promote family formation and stability. 10. A guaranteed child support benefit would depend on the mother’s income, and therefore would be reduced if the mother worked.

Exercise 42. Speak on the following topics.

1. Family forms and functions.

2. The family structure.

3. Family in divorce.

4. Family violence.

5. Social policies can support the family.

Unit 2. Education.

Exercise 1. Remember the active vocabulary.

Refer – відносити

schooling – навчання у школі

instruction – навчання

skill – уміння, майстерність

argue – аргументувати, переконувати

training – підготовлення (до умілої праці)

reply – відповідати

attune – приводити до співзвучності

inquiry – запит

claim – заявляти

vocational arts – професійна майстерність

eligible – підходний, придатний

credential – документ

certificate – свідоцтво

emphasize – наголошувати

ability – здібність

evaluate – оцінювати

labor market – ринок праці
achievement – досягнення, здобуток
rigorous –суворий
earn – заробити, заслужити
grade – рівень навчання у школі (клас)

degree – ступінь, звання
promotion –переведення до вищої (про учнів, студентів)

equal education – рівноправна освіта

grammar school – гімназія

secondary school – середня школа

realschule – реальна школа 

haupstchule – вища школа 

permit – дозволяти, допускати

take an exam – злавати екзамен

apprenticeship – строк навчання

academic –академічний, університетський

merit –заслуга

Exercise 2.  Read and translate text 1. 

Text 1. Education

The term  education refers to the formal or informal transmission of knowledge and skills. The term schooling  refers more specifically to formal instruction in a classroom setting.

For decades the controversy has continued between the traditional,  skill-oriented approach and the progressive philosophy of  “educating the  whole person”.  Educational traditionalists argue that training in   basic skills, especially reading, writing, and arithmetic, is the primary function of education.

Progressives reply that. Education should produce students attuned to the spirit of open inquiry and democratic ideals. They claim that by teaching methods of  learning and critical thinking, schools better prepare students for life in a  democracy and make them more independent thinkers in a constantly changing world.

Most modern educational systems like those in our own society have the following major functions:

1. Teaching skills, concepts, and vocational arts

2. Transmitting culture – the values, norms, traditions, and styles of living of a particular society – to youth

3. Training students for future positions by selecting those eligible for further training and preparing them for high-skill, high-prestige positions and assigning other to courses that will prepare them for middle-or low-level jobs

4. Caring for children and keeping them productively occupied until they are legally eligible for the labor market

5. Equipping young people with the proper credentials or certification to make them eligible for certain jobs

6. Teaching the young how to behave toward those who have political authority.

Let’s use cross-cultural studies to compare educational system of different countries.

The  American educational system emphasizes individual ability and achievement. From the day children enter school, they are evaluated on the basis of personal performance. Grades, promotions, and degrees are awarded to the individual. The goal  is to provide each individual with an equal education.

Americans believe in mass education, i.e. equal education for all (contest mobility), in contrast to western Europe, where higher education has been viewed traditionally as a privilege for the upper classes  or for those of unusual ability (sponsored mobility).  For example, until quite recently all British school children were required to take a rigorous examination at age 11. The small percentage of youngsters who earned high scores on these exams were admitted to “grammar schools”, which prepared students for  university  careers. The majority of students were sent to “secondary modern” schools that offered a combination of basic academic classes and vocational training, with the emphasis on the latter. The educational system in France is similar.

In Germany it is even more selective. On the basis of performance in grades one through four, many German children are assigned to, or choose to attend, a hauptschule,  which offers vocational training through ninth grade. After grade six, more children will go on to a realschule, which offers a higher level of technical training through tenth grade. Only one in four German children is permitted to attend a gymnasium, a rigorous program to prepare students for university work. A final exam, taken at the end of the thirteenth year of schools, determines which students will go on to universities.

In Europe vocational training is highly respected, unlike in the United States. It provides a workable alternative for those students who will probably not do well in college, and it supplies a pool of skilled, well-trained workers for business and industry. Most of the schools combine classroom academic instruction with paid apprenticeships. The problem with the vocational schooling is that it can be inflexible. It sometimes forces children and their parents too early to make a choice between academic and vocational schooling. Some children, too, are "late bloomers", who may find themselves shut out of the avenue to higher education just at the time they feel ready for it.

Thus, the American and European education systems reflect two different systems of social mobility: contest mobility and sponsored mobility. Under contest mobility, illustrated by the system in the United States, everyone is eligible to compete for society’s prizes and there is more than one strategy for winning. Status is seen as the result of  individual talent and effort. Under sponsored mobility, illustrated by the British system, “elite recruits are chosen by the established elite or their agents, and elite status is given on the basis of some criteria of supported merit and cannot be taken by any amount of effort or strategy.    

Exercise 3.  Answer the following questions.

1. What does the term  education refer to? 2. What does it mean schooling? 3. What is the controversy between the traditional and the progressive aproaches of education? 4. What are the major functions of educational systems? 5. Name two different systems of social mobility the American and European education systems reflect.

Exercise 4. Translate the word combinations.


Formal and informal transmission, classroom setting, skill-oriented approach, educational traditionalist, political authority, individual ability and achievement, contest mobility, sponsored mobility, vocational training, workable alternative.

Exercise 5. Match the synonymous word-combination.

	1. to admit to school

2. to take an exam

3. to leave school

4. to pass an examination

5. to earn high scores on one’s exam

6. to study at school

7. to give instructions in smth 
	a) to go through one’s exam

b) to sit for an exam

c) to enroll in school

d) to finish one’s school

e) to go to school

f) to do well at an exam

g) to teach smth


Exercise 6. These words are used as verbs and as nouns. Translate and   remember them.


To approach – approach, to claim – claim, to reply – reply, to award – award, to offer – offer, to work – work, to respect – respect, to force – force, to supply – supply, to result – result, to support – support, to cross - cross, to course – course.

Exercise 7. Define the parts of speech and translate.

a) educate – education, transmit – transmission, instruct – instruction, differ – difference, train – trainer, prepare – preparation, promote – promotion, instruct – instructor, graduate – graduation, achieve – achievement;

b) person – personal, progress – progressive, tradition – traditional, form – formal, vocation – vocational, democracy – democratic, independence – independent, culture – cultural, critic – critical, alternation – alternative.

Exercise 8. Find English equivalents in the text.


Освіта, навчання, професійна майстерність, рівноправна освіта, професійна підготовка, особисті досягнення реальна школа, випускний екзамен, академічне навчання, добре підготовлені робітники.

Exercise 9. Translate from English into Ukrainian.

1. One of the major functions of education is to transmit culture – the values, norms, traditions, style of living of a particular society – to youth. 2. The American educational system emphasizes individual ability and achievement. 3. In Europe higher education has been viewed traditionally as a privilege for the upper classes or for those of usual ability (sponsored mobility). 4. Many German children are assigned to, or choose to attend, a hauptschule, which offers vocational training through ninth grade. 5. In Europe vocational training provides a workable alternative for those students who will probably not do well in college.

Exercise 10. Translate the following sentences into English.

1.Термін освіта відноситься до формальної або неформальної передачі знань та умінь. 2. Сучасна система освіти здійснює передачу культурних цінностей, норм, традицій і стилю життя певного суспільства молоді. 3. Навчання умінню та професійній майстерності – є однією з функцій сучасної системи освіти. 4. Американці довіряють масовій освіті, тобто рівній освіті, що передбачає суперництво навідміну від Західної Європи, де вища освіта розглядалась традиційно як привілей для вищого класу або для тих, хто має незвичайні здібності за умов спонсорської підтримки. 5. У Європі система професійної підготовки надає трудову альтернативу тим студентам, які, можливо, не матимуть добрих успіхів у навчанні у коледжі і поповнює фонд умілих, добре підготовлених робітників для бізнесу та промисловості.  

Exercise 11. Raed and translate text 2.

Text 2. Goals of education in American society.


The cultural influences on American education are just as important, but more difficult to define. Basically, Americans have always aimed for equal opportunity in education, regardless of social class, national origin, or racial or ethnic group. A high general level of education has always been seen as a necessity in this democratic society. Education in America has also traditionally served the goal of bringing people together, that is, of “Americanization.” Schools in the U.S. served (and still serve) to bring together the hundreds of various cultural and linguistic groups, religions, and social and political backgrounds represented by the millions and millions of immigrants.


For the past several decades, nonetheless, public policy and legal decisions have increasingly emphasized special rights for ethnic and linguistic minorities in the area of education. For example, the Bilingual Education Act as well as recent court decisions have meant that children whose first language is not English must be taught in their mother tongue, be it Spanish, Navaho, or Cantonese.


The view that education should help lessen differences in social background as well as those of ethnic or racial origin was and is widely accepted. This explains some of the special characteristics of the American system of education. One of these, for example, is the “busing” of children. The goal is to have in each school the same proportion of children from various racial or ethnic groups that exist in the city’s population overall. Such programs also reflect the American view that education should help to reform society.


But largely, education has been seen as a way of “bettering oneself”, of “rising in the world”, as a fundamental part of the American Dream. Thus the millions of immigrants coming to America often tied their hopes for a better life to a good education for themselves and, most importantly, for their children. The social and economic mobility of Americans, which has so often been commented on by foreign observer, comes largely from the easy access to education that most American have enjoyed. The first step up whether the ultimate goal was money, status, power, or simply knowledge – usually started at the school door.

Exercise 12. Learn the following words and word combinations:

	cultural influence

equal opportunity

bring

social background

legal decision

linguistic minority

ethnic origin

emphasize

access

ultimate goal

lessen
	культурний вплив

рівна можливість

виховувати

соціальна підоснова

правове рішення

лінгвістична меншість

етніче походження

наголошувати

доступ

кінцева мета

зменшувати 


Exercise 13. Translate into Ukrainian.

The goal of bringing people together; special right for ethnic and linguistic minorities; Bilingual Education; must be taught in mother tongue;. should lessen differences; tie hopes to a good education; easy access to education.

Exercise 14. Read and translate text 3.

Text 3


Today educators are wrestling not only with problems of social, racial, and sexual inequality, but also with educational standards.


One problem with schooling today – especially in urban areas – is that much of it takes place in aging facilities among students whose lives reflect many of the social problems of our times. These factors have many ramifications – from the physical well-begin of both student and teacher to the level of academic achievement that is possible.


Violence in school is another issue of growing concern. School used to be thought of as safe havens in the midst of violence in the streets and problems in homes and other social institutions. Today, teachers, students, and parents are increasingly concerned about safety in school and whether students can learn in an institution where violence, guns and drugs seem to be ever-increasing problems.


The quality and supply of elementary and secondary school teachers is another cause for concern. Why has education not attracted by nations best and brightest students? Surprisingly, students are “passively content” with what goes on in classroom. The other side of the coin is that teachers are being asked to do more and more in the classroom while being given fewer resources with which to accomplish their goals. Undoubtedly, the most alarming information to come to light in the 1980s was the number of adult Americans who could not read or write. Illiteracy is expensive, for individuals and for societies, and critics of the American educational system see this problem as only the “tip of the iceberg”. The issue whether national standards would interfere with local control is extremely controversial, with most of the criticism coming from educators. Some of the more controversial recommendations concern the training and evaluation of teachers. Observers have questioned the costs and benefits of professionalizing teaching; virtually everyone agrees that finding ways of improving the professionalization, pay, and status of teachers is crucial to improving the quality of education, but the question is how to achieve these goals.

Exercise 15. Translate the following word-combinations into English (a) and into Ukrainian (b).

а) Боротися з проблемами; соціальна, расова і статева нерівності; навчання; вікові здібності; академічне досягнення; середовище насильства; безпека; вчителі початкової та середньої школи; здійснювати цілі; безграмотність; система освіти; перешкоджати місцевому кнтролю; підготовка і кількісна оцінка вчителів;

в) Reflect problems; physical well-being; issue of growing concern; ever-increasing problems; cause for concern; brightest students; extremely controversial issue; alarming information; costs and benefits of professionalizing teaching; achieve goals.

Exercise 16. Answer the following questions.

1. What main problems of education are distinguished by educators? 2. How do aging facilities among students influence schooling today? 3. Why is violence in school the issue of growing concern? 4. Why is the quality and supply of elementary and secondary school teachers the cause for coucen? 5. What are the ways of professionalizing teaching and evaluation of teachers?

Exercise 17. Complete the sentences choosing a suitable phrase from the suggested list.

Educational standards; illiteracy; accomplish goals; the quality of education; the training and evaluation of teachers; the coasts and benefits of professionalizing teaching; academic achievement; midst of violence.

1. Today educators are wrestling not only with problems of social, racial, and sexual inequality, but also with … . 2. Aging facilities among students have many ramifications – from the physical well-being of both student and teacher to the level of … that is possible. 3. Schools used to be thought of as safe havens in the … in the streets and problems in homes and other social institutions. 4. Teachers are being asked to do more and more in the classroom while being given fewer resources with which to … . 5. … is expensive, for individuals and for societies. 6. Some of controversial recommendations concern … . 7. Observers have questioned … . 8. Finding ways of improving the professionalization, pay, and status of teachers is crucial to improving … .

Exercise 18. Entitle the text and make a short summary.

Exercise 19.Read and translate text 4 in the written form.

Text 4. “Functional illiteracy”


Much attention is presently being given to what is termed “functional illiteracy”. This should not be confused with the problem of illiteracy, the inability to read and write. Current United Nations (UNESCO) figures indicate that 99 percent of all Americans are literate, the same figure assigned to nations such as Britain or Germany. Functional illiteracy, by contrast, is concerned with how much difficulty people have in actually using reading or writing skills in everyday situations. This might be interpreted, for example, as the relative ability to understand federal income-tax forms, or printed instructions, or how well someone can write a letter of complaint, or apply in writing for a job. 

There are no agreed-upon definitions of what functional illiteracy is and, in practice, definitions vary widely. For many years, reading tests have been used throughout the country which define reading ability by grade level. A “tenth-grade reading level”, for instance, would be average reading score of all the pupils who have completed ten years of school. There are, of course, many different reading tests and types of tests. One definition of functional illiteracy holds that anyone is “illiterate” who reads at less than an eight-grade level. Another common definition uses a twelfth-grade level (the last year of high school in the U.S.).

Exercise 20. Use the suggested word combinations in the context.

Be confused with the problem of illiteracy; reading or writing skills; federal income-tax forms; to write a letter of complaint; to apply in writing for a job; to define reading ability by grade level; average reading score; to use throughout the country; Current United Nations figures.

Exercise 21. Translate and comment upon the grammar forms.

Is being given; should not be confused; is concerned; have in using skills; might be interpreted; printed instructions; have been used; reading ability; have completed; would be average score.

Exercise 22. Distribute the following words according to the part of speech into separate groups; define their suffixes where possible; translate them.

Presently, what, termed, this, illiteracy, illiterate, functional, widely, apply, can, might, difficulty, actually, relative, understand, who, anyone, federal, vary, completed, reading.

Exercise 23. Put questions to cover the context of text 4.

Exercise 24. Tell about “functional illiteracy”.

Exercise 25. Discuss the following statements.

1. Live and learn. 

2. It is never too late to learn. 

3. Knowledge is power. 

4. To know everything is to know nothing. 

5. Money spent on the brain is never spent in vain.

Exercise 26. Read and translate text 5.

Text 5. Control of Education


There are two significant influences on American education which give it its present character, its size, and its great variety at all levels. The first influence is legal, or governmental. The second is cultural.


The United States does not have a national system of education. Education is considered to be a matter for the people of each state. Although there is a federal Department of Education, its function is merely to gather information, to advise, and to help to finance certain educational programs. Education, Americans say, is “a national concern, a state responsibility, and a local functions”. Since the Constitution does not state that education is a responsibility of the federal government, all educational matters are left to the individual states. As a result, each of the 50 state legislatures is free to determine its own system for its own public schools. Each sets whatever basic, minimal requirements for teaching and teachers it judges to be appropriate. 


In turn, however, state constitutions give the actual administrative control of the public schools to the local communities. There some 16,000 school districts within 50 states. School boards made up of individual citizens elected from each community oversee the schools in each district. They, not the state, set school policy and actually decide what is to be taught. They must represent local wishes and educational interests, as those who administer the schools are elected by the community.


Colleges and universities, whether state or private, are quite free to determine their own individual standards, admissions, and graduation requirements. Both schools and universities have self-governing groups, associations or boards which “accredit”, that is, certify schools and universities as meeting certain minimum standards. Yet membership in such groups is voluntary and they have no official, governmental status.


Because local and state taxes support the public schools, there are also significant differences in the quality of education. Communities and states that are able or willing to pay more for schools, buildings, materials, and teachers almost always have better educational systems that those that cannot or do not.


On the other hand, local control of the schools has also meat that there is a great deal of flexibility. There is much opportunity to experiment and to fit programs to local wishes and needs. Typically, local high schools will offer courses of study which they best reflect their students’ needs.


State supported universities and colleges also degree tailor their courses of study to the needs of the states and the students. States with strong agricultural economies will often support major departments in related sciences. States with strong technological interests, will often give much support to technological and scientific research institutions.


What makes American education at the secondary level so different from most other countries is that all such programs, whether academic, technical, or practical, are generally taught under one roof. The American high school is therefore best seen as if it were a combination of all the various types of schools which are usually separated and kept in separate buildings in other countries. As often as possible, too, handicapped children attend the same schools that anyone else does. Although most high school students in America are following different “tracks”, or courses of  study, Americans feel that they should be kept together as long as possible. They feel that students pursuing educational goals should learn together and thereby learn to get along together. A common error in comparing American secondary education with that of other countries, therefore, is to compare all American high school students with only the small proportion of students – usually an elite – who attend higher secondary schools in, for instance, European countries. An American high school includes all the students within the age group, not just those with the highest academic achievement or interests.

Exercise 27. Learn the following words and word combinations.

Set basic requirements – встановити  основні вимоги

judge smith appropriate – вважати що-небудь придатним

oversee – наглядати

administer schools – керувати школами

determine standards – визначати стандарти

admission, graduation requirements – вимоги щодо вступу,    закінчення учбового закладу

accredit (certify) – посвідчувати, підтверджувати

meet certain standards – відповідати певним стандартам

flexibility – гнучкість

reflect the needs – відображати потреби

tailor to – пристосувати

handicapped children – діти з якими-небудь завадами

academic achievements – учбові досягнення
Exercise 28. Translate into English, give the corresponding nouns: make up possible word combinations in English.

Фінансувати, встановлювати, відповідати чомусь, підтримувати, керувати, наглядати, представляти, відображати, відвідувати, включати, переслідувати (мати на меті), пристосувати.

Exercise 29. Give the term to the definitions, using the words below.

1. A Separate institution or a school within a university which specializes in special branch of knowledge (Agriculture, engineering, etc.). 2. Elementary or secondary schools that are the part of a system of schools maintained by taxes and supervised by local authorities. 3. A level of education between elementary schools and colleges or universities. 4. An institution of higher education supported and controlled by a particular state. 5. Ability or readiness to change quickly or easily (e.g. status, occupation). 6. A plan or course of action in directing affairs, as chosen by a political party, government, etc. 7. Education beyond the secondary school level; esp. Education provided by a college or university. 8. A level of instruction in school.

(secondary level, mobility, higher education, policy, grade, public schools, state university, college)

Exercise 30. Match the synonyms.

	administer

tailor

oversee

finance

enroll in

compete

benefit
	supervise

fund

govern

adapt

gain advantage

admit to 

try to outdo for a prise, profit, etc. 


Exercise 31. Mark the given statements: T – for true or F – for false. If the statement is wrong, give the correct information. If right, enrich it with details.

1. The United States has a national system of education. 2. A federal Department of Education has the function of setting basic requirements for teaching. 3. The local communities must represent local wishes and educational interests. 4. Colleges and universities are quite free to determine their own individual standards, admissions, and graduation requirements. 5. The American high school is various types of Schools which are usually separated and kept in separate building. 6. The process of “Americanization” in education means bringing together people of various social and political background, religions, cultural and linguistic groups. 7. An American high school includes just those with the highest academic achievement or interests. 

Exercise 32. Answer the following questions to text 5.

1. What two significant influences on American education determine its present character? 2. What are the functions of a federal Department of Education? Compare its role with that of Department of Education in Ukraine. 3. Point out the educational matters which fail under local control. 4. What is understood under a “great variety of American education at all levels”? 5. How does this variety contribute to a considerable flexibility of education throughout the nation? 6. What factors predetermine the range of courses available in high schools throughout the nation? 7. What makes American education at the secondary level so different from most other countries?

Exercise 33. Speak on:

1. Major functions of education. 

2. American and European education systems. 

3. Goals of American education. 

4. “Functional illiteracy”. 

5. Control of Education.
                                                                          

Unit 4. Politics

Exercise 1. Learn the following words and word combinations.

To gain power – домагатися  влади 

emergence – поява 

legitimate – легітимний, законний

to distribute power – розподіляти  влади  

loose alliance – вільний  союз 

principality – князівство   

national boundary – державний  кордон

loyalty – вірність, відданість   

obsolete – застарілий 

to exercise power – використовувати  владу 

authority – повноваження  

charismatic – харизматичний  

legal authority – юридичні  повноваження 

body of laws – сукупність  правових норм 

to trace – відслідковувати 

sovereignty – незалежність, суверенітет   

ruling party – правляча  партія    

to deny – заперечувати    

to rely on – сподіватися, покладатися 

to maintain power – підтримувати  владу 

body of laws – сукупність  правових норм

Exercise 2. Read and translate text 1.

Text 1 
What led to the emergence of states?

Politics refers to the social processes by which people gain, use, and lose power, and it plays an important role in virtually all human relationships. 

The state has a monopoly over the legitimate use of force within a territory. The emergence of nation stations, with specialized institutions for distributing power, is a relatively recent development. 

The first stage in the development of states was the separation of the office of king from the person who was king. But kingdoms were loose alliances of principalities, not nations in the modern sense of the word. The second stage in the development of states involved the drawing of national boundaries and the creation of public bureaucracies in Europe, these developments occurred because the expansion of capitalism made rules based on traditional loyalties obsolete. 

One of the central functions of political institutions is to legitimate the ways in which power is exercised: Power is the ability to control what others do. Authority is power that depends on the recognition that a person has a right to make certain decisions for others. 

The development of states depends on the separation of the public and private spheres and the emergence of a new type of authority. Traditional authority (based on custom) and charismatic authority (based on personal leadership qualities) must give way to rational legal authority (based on loyalty to a political system and a body of laws). 

The growth of the state in the twentieth century can be traced to the complexity of private activities in modern societies and to the fact that so many transactions involve strangers. 

Most modern states are structured along either democratic (where the government is controlled by the people) or authoritarian (the opposite of democracy, where popular sovereignty is denied and a ruling party relies on force to maintain power) lines. An extreme form of authoritarian government is totalitarianism, which not only denies popular participation but also interferes extensively in people’s lives. 

Exercise 3. Look at the words in the vocabulary and arrange them in the following order: verbs, nouns, adjectives and word combinations. 

Exercise 4. Make up 5 sentences or compose a short situation with the words. 

Exercise 5. Fill in the gaps with appropriate words from the text:

1.… refers to the social processes by which people gain, use, and lose power. 2.The emergence of ...   is a relatively recent development. 3.The first stage in the development of states was ... of king from the person who was king. 4. The second stage in the development of states involved ... ... and ... ... 5. One of the central functions of political institutions is ... the ways in which power is exercised. 6. ... is the ability to control what others do. 7. ... is power that depends on the recognition that a person has a right to make certain decisions for others. 8. The development of states depends on ...  ... and ... ... and the emergence of a new type of authority. 

Exercise 6. Answer the following questions.

1. What is politics? 2. What are stages in the development of states? 3.What is one of the central functions of political institutions?   4. Differentiate between power and authority?  5. What does the development of states depend on? 6. What are traditional authority and charismatic authority based on? 7. How are modern states structured?

Exercise 7. Translate the sentences into English.

1. Держава утримує монополію на законне використання сили в межах території. 2. Другий етап у розвитку держав включав визначення національних кордонів і створення громадських бюрократій у Європі. 3. Традиційна влада і харизматична влада повинна поступитися раціональній юридичній владі. 4. Але королівства були вільними союзами князівств, не держав у сучасному розумінні цього слова. 

Exercise 8. Learn the following words and word combinations.

Minimal – дуже маленький, найменший 

welfare state – держава  загального добробуту 

to insure – гарантувати  

well-being of citizens – добробут  громадян 

sluggish economy –  в'яла (застійна) економіка; економіка, що характеризується повільною активністю 

aging population – доросле  населення 

to acquire power – отримувати  владу 

majority rule – мажоритарний  принцип, принцип більшості 

minority right – право  меншості

equality of opportunity – рівність можливостей

to succeed in – досягати  мети, мати успіх 

Exercise 9. Read and translate text 2.

Text 2. Development of modern welfare state 

Whether a state is democratic or authoritarian in structure, the functions it performs vary widely. In a minimal state, the government is limited to maintaining national autonomy (defense) and internal order (via police). The opposite of a minimal state is a welfare state, in which the government tries to insure the well-being of citizens by becoming involved in social functioning. 

The modern welfare state first appeared in Germany in the late nineteenth century and spread to most industrialized nations in the early twentieth century. Whereas older states were concerned primarily with maintaining order and defending their borders, the welfare state also assumed varying degrees of responsibility for the health, financial security, and working conditions of citizens and for regulation of the economy. 

The welfare state is changing largely because of a sluggish world economy and the increasing demands of aging populations. It seems likely that welfare-state programs will be restructured according to national values and goals. For example, in the United States welfare programs need to be restructured so that the public can appreciate how they contribute to American society as a whole. 

The legitimacy of a state is grounded in a set of political ideals that establish how power should be acquired and used. The political system of the United State is based on the ideal of democracy, stressing the following points: the importance of the individual, consent of the governed, majority rule and minority rights, and equality of opportunity. One of the main themes in modern western history is the expansion in people’s ideas of their rights. No society – whether democratic or authoritarian – ever totally succeeds in meeting its goals.
Exercise 10. Fill in the gaps with the words given below. 

Sluggish economy, to acquire, late nineteenth century, to succeed in, spread, aging population, well-being of citizens, welfare state, to succeed, modern. 

1.The opposite of a minimal state is a ________, in which the government tries to insure the ___________ by becoming involved in social functioning. 2.The welfare state is changing largely because of a world’s_______________ and the increasing demands of _________. 3.The legitimacy of a state is grounded in a set of political ideals that establish how power should be ______. 4.No society – whether democratic or authoritarian – ever totally _______ meeting its goals. 5.______welfare state first appeared in Germany in _____ and ______to most industrialized nations in the early twentieth century. 


Exercise 11. Translate the words into English.

Найменший, доросле населення, держава загального добробуту, отримувати владу, гарантувати, принцип більшості, добробут громадян, мажоритарний принцип, в’яла економіка, рівність можливостей, досягати мети,  право меншості. 

Exercise 12.  Determine –ing functions in the sentences. 

Exercise 13. Answer the questions.

1. Differentiate functions of a minimal  and welfare states? 2. When and where did the first welfare state appear? Why is it changing today? 3. What did the welfare state assume? 4. What distinctions may be drawn between democratic ideals and realities? 5. What is the political system of the United States based on? 6. Does any society succeed in meeting its goals? Why?

 Exercise 14. Translate the sentences into English. 

1. У державі загального добробуту уряд намагається забезпечити добробут громадян завдяки проникненню в соціальне функціонування. 2. Державні програми благополуччя будуть, ймовірно, реструктуровані відповідно до національних цінностей та цілей. 3.  Легітимність держави ґрунтується на сукупності політичних ідеалів, які встановлюють, як потрібно отримати владу й нею користуватися. 4. Жодне суспільство – або демократичне, або авторитарне, ніколи повністю не зможе досягнути своїх цілей. 

Exercise 15. Discuss the text from the view point of: 

- a politician 

- common people

- reformists 

Exercise 16. Learn the following words and word combinations.

To center on – зосереджуватися  

to decline – знижуватися 

to depart from – відмовлятися  

voter apathy – байдужість  виборців    

eligible – той, хто  має право бути обраним   

crossover – зміна  партійної належності 

civil disobedience – громадська  непокора 

narrowly – винятково  

self-interested – користолюбний  

interest group – група  людей зі спільними інтересами 

Exercise 17. Read and translate text 3.

Text 3. Political Life in the United States 

  Traditionally, political life in the United States centered on voting and political parties. However, voting rates have declined and political parties began losing control over their members. 


Today’s political realities depart from political ideals in a number of ways: (1) Voter apathy: One in four Americans who are eligible to vote do not register, and almost half of those who register do not vote, even in a presidential election. (2) Party politics: Political parties in the United States do not have the power, organization, or ideological distinctiveness of those in Europe. Although Americans usually vote along social-class lines, there are many crossovers on the basis of specific issues. (3) Interest groups of PACs: The decline in party politics in the United States has been met by an increase in the number and influence of special-interest groups and PACS (political action committees – committees that raise funds for particular candidates). (4) Protest movements: Since the 1960s, organized civil disobedience has become a common, accepted way of influencing government policies and decisions, at all levels. Protest movements may be narrowly self-interested or they may be radical, seeking fundamental changes in existing institutions. 


Sociologists have proposed four different models of the structure of power in the United States. Pluralists describe a complex pattern of criss-crossing interest groups, which prevents the concentration of power in the hands of a single group but may also lead to paralysis. Some believed that real authority lies in a power elite, composed of decision makers in the executive branch of government, the military, and large corporations. Instrumentalists argue that a national upper class is in control. Structuralists, on the other hand, hold that policies and plans are based on the needs of the capitalist system. 

Exercise 18. Complete the sentences choosing the information from the text:

1. Political life in the United States centered on ______________.

2._________ who are eligible to vote do not register, and almost ________ do not vote, even in a presidential election.

3.The decline in party politics in the United States has been met by an increase ________________________.

4. _________ may be narrowly self-interested or they may be radical _________________. 

5. Pluralists describe a complex pattern of criss-crossing interest groups, which _________. 

6. Instrumentalists argue that____________. 

7. Structuralists hold that _______________. 

Exercise 19.  Copy 5 nouns, verbs and adjectives from the text and translate them. 

Exercise 20. Make up 5 sentences with the words copied on the topic. 

Exercise 21. Translate intro English.

1. Спад партійної політики в США був зумовлений зростанням кількості і впливу груп людей, об’єднаних спільними інтересами. 2. Починаючи з 1960-х років громадська непокора стала звичним, прийнятним способом впливу на урядову політику і рішення на всіх рівнях. 3. Рухи протесту можу бути суто корисними або вони можуть бути радикальними, домагаючись фундаментальних змін в існуючих інституцій. 4. Дехто вважав, що справжня влади знаходиться у політичної еліти, до складу якої входять ті, хто приймає рішення в виконавчій гілці уряду, військові та великі корпорації. 

Exercise 22.  Answer the questions.

1. What did political life in the United States center on? 2. Why do political realities depart from political ideals? 3. What models of U.S power have sociologists proposed? 4. Why is the political life in the U.S. taken into consideration by other nations? 

Unit 5. Economy and work

Exercise 1. Learn the following words and word combinations. 

Equal footing – рівна  основа

profit motive – стимул  для отримання; прибуток    

command economy – адміністративно -командна система            планування економічної діяльності

to own – володіти  

harnessing – використання 

limited liability – обмежена  відповідальність 

craftspeople – ремісники 

dead-end job – безперспективна  робота 

dignity in work – висока  посада в роботі 

alienation – відчуженість  

subsidiary – філія  
Exercise 2. Read and translate the text.
Text 1

Sociologists have argued that the world is no longer composed of separate, individual national economies, as these have been replaced by global corporations. The key actors in today’s global economic system are multinational corporations: companies with holdings and subsidiaries in several different nations. They tend to perpetuate the global division of labour and the system of stratification than began with European colonization. Multinationals do not compete with other corporations on an equal footing, and they are essentially stateless. 

Corporations are business organizations characterized by limited liability, shared ownership (through sale of stocks), and separation of ownership and management. Monopolies are business firms that control an entire industry. The term for domination of an industry by a small number of large companies is oligopoly. A more recent corporate innovation is the conglomerate – a company with holdings and subsidiaries in a number of different industries. 


Differentiating types of economy we should mention capitalist and command economy. Capitalism is based on three basic principles: private ownership of property, the profit motive, and free competition. In command economy, found in socialist and communist societies, all or most of means of production are owned by the state. In reality, no economic system is purely capitalistic or communistic. 

The Industrial Revolution brought four major technological changes: the harnessing of new sources of power, a more complex division of labour, the birth of the factory, and the use of machines to perform some or all of the tasks previously performed by people. Equally important were advances in infrastructure technology. 


Industrialization has had a profound impact on the nature of work. When craftspeople and farmers became factory workers, they lost bargaining power, opportunities for creativity, and control over their own activities, and these trends continue today. 

The current shift from and industrial to a service economy has contributed to the development of two separate worlds of work: a primary labour market that offers high wages and promotion opportunities, and a secondary labour market composed of low-skill, low-paying, dead-end jobs. 

Despite these trends, the work ethic remains strong, being centered around four themes: maturity is equated with being a good provider; work is seen as the way to freedom and independence; admiration for success; and the feeling that there is built-in dignity in work. 

Automation (the use of technological control to minimize the need for human workers) is moving from the factory to the office. Computers and other technologies are creating new opportunities and new challenges in what may be termed a postindustrial society. Computers permit managers to substitute automated machines for people in the factory and to monitor and control the activity of their employees. 

The combinations of automation and control seem to be increasing the alienation of workers. Most studies have found that dissatisfaction with work occurs at all occupational levels. In recent decades, full-time employees have experienced a decline in leisure time as the number of working hours has increased. 

Some sociologists argue that computers and other new technologies are leading toward an information society that will be fundamentally different from the industrial society. Others support the functionalist argument that technology itself can  alter the shape of society. Critics of this view adopt the conflict view, believing that the impact of technology depends on which groups control its development and use. 
Exercise 3. Match each of the following terms with the correct definition: 

a. monopoly



h. multinational corporation 

b. automation



i. command economy

c. infrastructure


j. productivity

d. capitalism



k. oligopoly

e. service economy


l. Third World 

f. conglomerate

g. corporation 

1.___An economy in which most workers are not directly involved in production. 

2.___Technological control of production that minimizes the need for human workers.  

3.___A corporation with holdings and subsidiaries in a number of different industries. 

4.___The domination of an industry by a small number of large companies. 

5.___A type of economy characterized by private ownership of property, the profit motive and free competition. 

6.___An organization, created b law, whose existence and liabilities are independent of particular owners and managers. 

7.___The means for moving raw materials, goods, people, and ideas from one place to another in a society or region. 

8.___The ratio of goods produced to human effort. 

9.___A firm that controls an entire industry, eliminating competition. 

10.__An economic system in which the means of production are owned by the state and economic activities are centrally planned. 

11.__A  corporation with holdings and subsidiaries in several different nations. 

12.__Geographic area comprised of the pooper nations of the southern hemisphere. 

Exercise 4. Give the correct answer to the proposed situations.

1. According to the text, the key actors in today’s global economic system are:

a. independent business

b. multinational corporations

c. socialist organizations

d. none of the above

2. According to the text: 

a. the first modern multinationals were  based in Europe

b. multinationals compete with other corporations on an equal footing

c. multinationals have alliances with specific “states”

d. none of the above

3. Which of the following does not fit with capitalist ideals? 

a. free and open competition

b. centralized planning by the government 

c. consumer sovereignty

d. none of the above

4. A command economy is 

a. the opposite of a capitalist economy

b. found in capitalist countries

c. the ideal economic organization 

d. none of the above

5. Techniques for moving raw materials, goods, people, and ideas from one place to another are refereed to as _____technology. 

a. superstructure

b. infrastructure

c. substructure

d. afterstructure

6. A major tire company buys a supermarket chain, timberland, and a movie production company. The company is building a:

a. monopoly

b. corporation

c. conglomerate

d. multinational corporation.

Prove your answer. 

7. The description of a corporation calls attention to:

a. the limited liability of corporations

b. the separation of ownership and management

c. the diffusion of ownership through the sale of shares

d. corporate asymmetry

8. Corporations differ from other business organizations in a number of significant ways. Which of the following is not one of these?

a. limited liability

b. separation of ownership and management

c. ability to sell shares of ownership

d. cannot be sued

9. Which sector of the economy has grown at an accelerated rate in recent years?

a. the primary labour market

b. the secondary labour market

c. information industries

d. manufacturing

10. Today, white-collar work involves: 

a. only high-prestige, high-paid jobs

b. only high-skill jobs

c. primarily low-skill jobs

d. a mixture of high-paid, low-paid, high-prestige, low-prestige, high skill, and low-skill jobs. 

11. The major difference between a service economy and an industrial economy is that in a service economy:

a. automation of the textile and other industries is involved

b. government regulation is increased

c. a majority of the population is involved in the production of goods

d. a majority of the population is not involved in the production of goods

12. Which of the following occupations is not in the secondary labour market? 

a. dishwasher

b. travel agent

c. garment industry worker

d. none of the above

13. According to _____, industrialization was the driving force in creating modern societies, and this transformation is associated with progress. 

a. functionalists

b. conflict theorists

c. interactionists 

d. none of the above

14. According to ____, the impact of a technology depends on who controls its development and use. 

a. functionalists

b. conflict theorists

c. interactionists

d. none of the above

Exercise 5. Answer the questions. 

1. What is the global economy and how does it function? 2. What is capitalist and command economy? 3. What changes did the Industrial Revolution bring? 4. How has the world changed? 5. What effects have the new technologies had on people’s work satisfaction and leisure time? 

Exercise 6. Discuss the issue.

1. What are some of the indications that capitalist economy is moving in the direction of socialism. Are the many criticisms of command economies justified, or do they merely reflect a tone of ethnocentrism?

2. The American economy, along with the world economy, has been undergoing some basic structural changes. Identify which industries and which groups of workers (or managers) benefit from the changes and which seem to be most negatively affected. How would a functionalist/a conflict theorist view the changes, and which solutions would each propose to the problems created? 

Unit 6. Population, Global Economy, Urbanization

Part I. Population

Exercise 1. Learn the following words and word combinations. 

Birthrate – народжуваність  

to calculate – розраховувати , обчислювати 

death-rate – смертність , показник смертності

fertility rate – коефіцієнт  потенційної народжуваності 

childbearing age – дітородний  вік

life expectancy – середня  тривалість життя 

life span – тривалість  життя 

net growth rate – чистий  темп росту 

percentage – процентне  відношення
estimate – розрахунок  

eventually – в  кінцевому підсумку 

Exercise 2. Read and translate text 1.
Text 1

The scientific study of population is known as demography. Demographers use a number of standard measures in translating a locality’s raw totals – births, deaths, the number of those moving in and out – into general statistics that allow them to identify trends. The birthrate is the number of births per 1,000 people in a given year. Suppose there were 900 births in a city of 50,000 in a specific year. Demographers calculate the birthrate for the city by dividing the number of births (900) by the population (50,000) and multiplying the result (0.018) by 1,000 to get 18. The death rate is the number of deaths per 1,000 people in a given year. (The death rate is calculated in the same way as the birthrate). The fertility rate is the number of live births per 1,000 women of childbearing age (15 to 44 years) in a population in a given year; this rate helps demographers calculate average family size. Life expectancy is the potential life span of the average member of any given population. The net growth rate is the percentage increase in a population, taking into account immigration and emigration as well as birthrates and death rates. Unlike most other demographic measures, population growth rates are calculated as percentages. Suppose a nation has a birthrate of 28 (per 1,000), a death rate of 17, and little immigration or emigration. Its population is increasing at the rate of 11 per 1,000 (28 minus 17); its growth rate is 1.1 percent. 

The population of the world is growing at the rate of about 90 million per year, i.e. every second world population increases by 2.9 persons; estimates are that this population may total as much as 10.7 billion people by the year 2030. These figures are the result of sudden and dramatic population growth in modern times. It took several hundred thousand years for the population of Homo sapiens to reach the 1-billion mark in 1805; only 121 years to reach the 2-billion mark in 1926. Only 60 years later, we exceeded 5 billion. But neither population nor population growth rates are distributed eventually throughout the world. Population and population growth rates are highest in Third World nations and lower in western nations.  

Exercise 3.  Match each of the following items with the correct definition.

a/birthrate



d/life expectancy

b/death-rate 



e/ growth rate

c/fertility rate  



f/percentage




g/ childbearing age 

1.____The number of births for every 100 or every 1000 people in a particular year in a particular place. 

2. ____ The speed at which something increases or grows. 

3. ____An amount stated as if it is part of a whole which is 100. 

4. ____ The number of deaths for every 100 or every 1000 people in a particular year in a particular place. 

5. ____The ability of a person, animal, or plant to produce babies, young animals, or seeds. 

6. ___ The length of time that a person or animal is expected to live. 

7. ___ The time in a woman’s life when she can have babies. 

Exercise 4.  Complete the sentences.

1. The scientific study of population is known as ________.

2.____ is the number of births per 1,000 people in a given year. 

3. Demographers calculate the birthrate for the city by __________ by the population  and _________ the result by 1,000. 

4. The death rate is the number of deaths per _________people in a given year. 

5. The fertility rate is the number of live births per 1,000 women of __________in a population in a given year. 

6.______ is the percentage increase in a population, taking into account immigration and emigration as well as birthrates and death rates. 

7._____world population increases by 2.9 persons. 

8. Population and population growth rates are highest in _______ and lower in ______.  

Exercise 5.  Answer the questions. 

1. What do demographers use a number of standard measures for? 2. Differentiate between the birthrate and death rate. 3. What is a woman’s childbearing age? 4. What is the net growth rate taken into consideration? 5.How is the population of the world growing? 6. Where is the population growth rate highest? 

Exercise 6. Learn the following words and word combinations.

Demographic transition – перехідний  період природного руху населення 

infant – дитина  до 7 років 

to survive – вижити , залишитися у живих 

infant mortality – дитяча  смертність

childhood – дитинство , дитячий вік  

famine – голод  

facilitate – сприяти , активізувати 

to devastate – спустошувати , розорити 

decline – спад  

to soar – стрімко  зростати 

population explosion – демографічний  вибух 

to be associated with – бути  пов’язаним з 

postponement – відкладення , відстрочка
replacement level – рівень  відновлення 

to restore – відновлювати , відроджувати 

Exercise 7. Read and translate text 2.

Text 2

The term demographic transition refers to a pattern of major population changes that accompanied the transformation of western nations from agricultural into industrial societies. Western nations have completed this transition.  The demographic transition occurred in three stages. 

In Stage 1, birthrates were high, but death rates were also high. As a result, the population growth rate was low. Thus, in eighteenth-century Europe, birthrates were high, but many infants did not survive childhood and many adults did not reach old age. High infant mortality, epidemics, famines, and wars kept the population growth rate low. 

In Stage II, which began in Europe in the late eighteenth century, birthrates remained high, but death rates began to fall. Why? Improvements in agricultural technology, the spread of new and hardier crops (such as the potato), and increased food production. Improvements in transportation facilitated food distribution: people were no longer dependent on local supplies or devastated by local crop failures. During the nineteenth century improvements in public health and sanitation (cleaner water, better sewage disposal, pasteurized milk) and advances in modern medicine contributed further to the decline in death rates. Many more women survived into their childbearing years. The population growth rate soared. The eighteenth-century population explosion was due to lower death rates, not to higher birthrates). 

In Stage III , which began in the mid-nineteenth century in western nations, birthrates started to fall. Stage III is associated with industrial development. In agricultural societies, children are an economic asset; the more hands, the better. In urban, industrial societies, however, children become an “economic burden”. They are financially dependent on their parents for an extended period. Large families mean crowded living quarters, added household expenses, and а lower family standard of living. Four additional factors that contributed to falling birthrates in the west in the 20th century were a/ the decline in infant mortality, which meant that a couple did not have to produce five or six children to ensure that three or four would live; b/ government-sponsored Social Security Program in the 1930s and 1940s, which meant that parents did not have to depend on their children to support them in old age; access to modern birth control devices in the late 1950s and early 1960s, and postponement of the age of marriage. By the 1960s families with only two or three children had become the norm. Today birthrates in most western nations have stabilized at replacement levels. Thus the balance between birthrates and death rates has been restored; as in Stage I, the population growth rate is low. 

Most Third Word nations are in Stage II of the demographic transition. Death rates have fallen, but birthrates remain high. Because the populations of these countries are young, population growth has a built-in momentum factor. Even if couples limit themselves to one or two children, it will be decades before zero population growth is achieved. Although there is no simple solution to the problem of population growth in the Third World, analysis of demographic transition in western nations suggests that economic development is the best contraceptive. When people enjoy a high stand of living and social security, they are more likely to limit family size. Raising the status of women has also been linked to smaller families.

Exercise 8.  Answer the questions. 

1. What is demographic transition? 2. What are the stages of population growth in industrialized nations? 3. How is growth pattern different in Third World nations?  

Exercise 9. Translate into English.

1. В Європі вісімнадцятого століття народжуваність була високою, але багато малюків не доживало до дитячого віку, а багато дорослих не досягало старості. 2. Висока дитяча смертність, епідемії, голод і війни утримували низькими темпи росту населення. 3.Удосконалення сільськогосподарських технологій, поширення нових і більш стійких зернових культур (наприклад, картопля) сприяли збільшенню народжуваності і зменшенню смертності.4.Зростання перевезень полегшило розподіл (збут) продовольства: люди вже не залежали від місцевого постачання або розорення від місцевих неврожаїв. 5. В міських, промислових суспільствах діти стають “економічним тягарем”, оскільки вони фінансово залежать від своїх батьків протягом тривалого періоду. 6.Коли люди мають високий рівень життя і соціальний захист, вони, наймовірніше, обмежують розмір сім”ї. 

Exercise 10. Make up your own sentences with any five words from the vocabulary. Extend them into a situation. 

Exercise 11.  Speak on the topic: what I would advise as a sociologist to increase birthrate in Ukraine. 

Part II. Population and Ecology

Exercise 1. Learn the following words and word combinations. 

Influential – впливовий , важливий 

to be condemned – бути  приреченим 

feast – свято  

famine – голод  

to maintain supply – здійснювати  постачання 

to catch up with – доганяти  



anew – знову , заново 

to augment – збільшувати , посилювати 

to be doomed – бути  приреченим 

abstinence – стриманість  

birth control devices – засоби  регулювання народжуваності 

pestilence – епідемія , чума, мор

to undermine – підривати  




self-sufficiency – самоокупність    

to entail – викликати  

strain of wheat – cорт  пшениці 

vulnerability – уразливість 

to displace – звільняти  

to deteriorate – пошкоджувати , погіршувати 

specter of “war – ознака , примара війни 

Exercise 2. Read and translate text 1.

Text 1

In 1798, Thomas Malthus published An Essay on the Principle of Population, which became extremely influential in the nineteenth century. Malthus argued that humanity is condemned to cycles of feast and famine. Human population increases faster that the food supply necessary to maintain it. When food supplies are plentiful, the population grows until it outstrips available supplies. But as soon as food supplies catch up with population, the cycle begins anew. By implication, efforts to improve the standard of living and augment food supplies are doomed to failure, for they simply encourage people to have large families. Malthus urged “moral restraint” (“sexual abstinence” be doubted that many people would follow his advice). 

Malthus failed to predict the technological advances that enabled modern nations to vastly increase the amount of food produced on a given piece of land. He did not foresee technological developments in transportation and communication that made it possible to distribute food over the globe. He did not predict the increased use of birth control devices. He did not consider the possibility that people might respond to a rising standard of living by limiting the size of their families. For a time it looked as if Malthus had been wrong. 

But in recent years the population problem and the specter of “war, pestilence and famine” have reemerged with new dimensions. If world population does indeed reach 10.7 billion by the year 2030, there is good reason too wonder whether the earth can support its human population.

Predicting the future is not a simple matter of arithmetic. Social patterns of supply, distribution, and consumption must also be taken into account. Knowing how many people will be on the earth in the year 2010, how many bushels of wheat will be produced, how many barrels of oil will be available, and the like, does not tell us how many people will be hungry or cold or unemployed. Worldwide food production has increased dramatically within the past two decades. The hunger in the world today is the result of distribution, not supply. The commercialization of agriculture has undermined food self-sufficiency in much of the Third World. Energy shortages are also the result of distribution, not supply. 

Technology produces “miracles”, but it also entails environmental risks. For example, the Green Revolution (the invention of new strains of wheat, rice, and beans) greatly increased the yield per acre. But the Green Revolution was not without costs: it increased vulnerability and displaced agricultural workers. The increased food production brought about by the Green Revolution has resulted in lower grain prices, causing Third World nations to go further and further into debt. The problems of production and displacement related to the Green Revolution are further aggravated by overpopulation, which has reduced the amount of available land and deteriorated that land which is available. 

Exercise 3. Match English equivalents to the following words. 

Впливовий, важливий



to be condemned

знову, заново




feast

засоби регулювання народжуваності

self-sufficiency

самоокупність




to catch up with

звільняти




to maintain supply

підривати




to undermine

пошкоджувати, погіршувати 


abstinence

збільшувати, посилювати


influential

здійснювати постачання


famine

стриманість 




vulnerability 


свято 





to augment 


голод 





anew 


сорт пшениці




to displace


викликати 




to entail 


бути приреченим



birth control devices

ознака, примара війни 



pestilence

доганяти 




to deteriorate

епідемія, чума, мор



to be doomed


бути приреченим



strain of wheat

уразливість




specter of “war

Exercise 4. Give English equivalents for. 

Впливовий, бути приреченим, здійснювати постачання, стриманість, заново, доганяти, голод, свято, сорт пшениці, самоокупність, чума, збільшувати, засоби регулювання народжуваності, пошкоджувати, викликати, звільняти, погіршувати, уразливість, підривати. 

Exercise 5.  Copy 5 verbs, nouns, adjectives. Use the words copied in 10 sentences of your own.  

Exercise 6.  Answer the questions. 

1. What is Malthus’ theory of the principle of population about? 2.How is the relationship between population and world resources affected by disparities in distribution and consumption? 3.How is the relationship between population and world resources affected by environmental hazards? 4.Why is prediction of future important? 5.How is the Green Revolution related to the problems of production and displacement? 

Exercise 7. Translate the following sentences into English.

1. Коли постачання продовольства достатнє, населення росте поки не перевищить наявних запасів. 2. Але в останні роки проблема населення та примара “війни, мору і голоду” знову виникли знову з новим розмахом. 3. Знання про те, скільки людей буде на землі в 2010 році, скільки бушелів пшениці буде зібрано, скільки барелів олії потрібно і т.д. не скажуть нам, скільки людей голодуватиме, або мерзнутиме, або буде безробітними. 4. Дефіцит енергії також є результатом збуту, а не постачання. 5. Збільшення виробництва харчової промисловості завдяки “Зеленій Революції” призвело до зниження цін на зерно. 6. Передбачення майбутнього- не просте завдання арифметики. 

Exercise 8. Learn the following words and word combinations.
Consumption pattern – модель  споживання 

nonrenewable resources – ресурси, що не поновлюються

grossly – надзвичайно  

extravagant (in) – марнотратний  

depletion of resources – вичерпання  ресурсів 

renewable – поновлений 

presumably – приблизно 

reforestation program – програма  відновлення лісових посаджень 

to fix а problem – виявити  проблему 
prevalent – широко  поширений

оil spill – витік  нафти 

acquired immune deficiency syndrome – синдром  набутого імунодефіциту
AIDS – СНІД 

to ravagе – спустошувати 

plague – чума, епідемія
HIV (human immunodeficiency virus) – ВІЛ  (вірус імунодефіциту людини) 

sexual intercourse – статеві  стосунки
blood transfusion – переливання  крові 

alarming rate – тривожний  темп
full-blown – різко  виражений


preventive cure – профілактичне  лікування 

Exercise 10. Read and translate text 2.

Text 2

One of the major problems facing the world today is its consumption patterns. Overpopulation alone is not the critical issue, but the impact of people on ecosystems, and nonrenewable resources is a major problem. Consumption patterns for food and fuel are grossly disproportionate, so that industrial nations, especially the United States, are much more extravagant in their use of natural resources. Future supplies of fuel and food are dependent on current patterns of consumption. Continued population growth means that the absolute amounts of energy and fuel needed will continue to increase. In this regard, the depletion of one major renewable resource – trees – needs to be corrected, presumably, by the use of reforestation programs. In the meantime, oil gas, coal, etc. are not renewable. This will not be an easy problem to fix. 

Environmental risks are also becoming more prevalent in the world today. Oil spills, nuclear power accident, and air pollution are the most significant threats, but soil pollution is also a problem. 

Unknown a generation ago, acquired immune deficiency syndrome (AIDS) is today ravaging every continent. This modern plague has the potential to sharply alter world population. AIDS is caused by a virus, HIV, that destroys the body’s ability to fight off infections and cancers. A person may acquire the virus through sexual intercourse, a blood transfusion or shared needle, or being born to or nursed by an infected mother.  Because the epidemic is spreading at an alarming rate, the World Health Organization estimates that 30-40 million people will be HIV-positive by the year 2000. The virus may remain inactive for years. But when full-blown AIDS develops (the average period of incubation is ten years), it is always fatal. There is no known preventive and no known cure. 

Exercise 11. Fill in the gaps with the given words: 

consumption pattern, blood transfusion, extravagant,  human immunodeficiency virus,  depletion of tree resources, reforestation program, shared needle, оil spill, acquired immune deficiency syndrome,  sexual intercourse, preventive cure, infected mother

1. There is no known _____ for AIDS. 

2. AIDS is caused by ______that destroys the body’s ability to fight off infections.

3. _____ as well as nuclear power accident and air pollution are the most significant threats. 

4.___________for food and fuel are grossly disproportionate. 

5. The ________________ needs to be corrected by the use of ____________.

6. Industrial nations are much more _________ in their use of natural resources.

7.Unknown a generation ago, _________________ is today ravaging every continent.

8.A person may acquire the virus through ________, ________ or ______, or being born to or nursed by an _____. 

Exercise 4. Answer the questions.

1. What are consumption patterns? 2. What do we mean by environmental risks today? 3. What is AIDS?

Exercise 5. Determine the problem discussed in the text from the viewpoint of: 

a/ virosologist

b/ a scientist

c/ a law-maker

Exercise 12. Learn the following words and word combinations. 
Shopping mall – торговий   центр

rural areas – сільська  місцевість

affluence in the nation – скупчення  народу 

Exercise 13. Read and translate text.

Text 3. Urbanization

Urbanization is an increase in the percentage of a population living in urban settlements and a resulting extension of the influence of urban culture and lifestyles. Urbanization was considered as destroying traditional communities and creating, instead interdependence and alienation. The urbanization can be divided into three stages: the emergence of big cities (compact centers of manufacturing and population that developed as a result of industrialization and immigration); the growth of metropolitan regions (geographic expansion made possible by new technologies of transportation and communication, exemplified by the suburban shopping mall); and deconcentration (recent population shifts from metropolitan to rural areas). Deconcentration has changed the function and demographic of older cities; once the centers of manufacturing and affluence in the nation, these cities are now centers for specialized services and warehouses for large segments of the nation’s poor. 

Urbanization in developed countries is tending toward deconcentration, but in the Third World, megacities are becoming the rule, because only in these giant urban centers are there adequate transportation and communication facilities, and thus the employment opportunities offered by commerce, industry and government. 

Exercise 14. Answer the questions. 

1. How is urbanization defined? 2. What are the three major stages of urbanization? 3.  What are the primary differences between urbanization in rich industrialized nations and in Third World countries?

Exercise 15. Speak on 

· global ecology

· urbanization and 

· population problems 

Unit 7. Collective Behavior and Social Movements.

Exercise 1. Remember the active vocabulary.
Event – подія

crowd – натовп

mass – маса

riot – бунт

influence – вплив; впливати 

occur – траплятися

vicinity – близькість

compatriots – співвітчизники

fear – страх

hostility – ворожість

joy – радість

anger – гнів

frustration – знівечення, крах (успіху) 

promote – підтримувати, сприяти
resist – протистояти, чинити опір

alter – змінювати

strive – старатися, намагатися

favor – ставитися прихильно

excel – виділятися

justice – справедливість, правосуддя

equality – рівноправність

decency – порядність

seek – намагатися

vote – голосувати

inspire – надихати

rid – позбутися

obstacle – перепона, завада

leaflet – листівка

Exercise 2. Read and translate text 1.

Text 1. Collective Behavior

In your everyday life, you have become accustomed to playing certain roles in a predictable manner. You also expect others to do their parts, whether it’s your parent who prepares breakfast, your school-bus driver who stops at the assigned locations, or your friends who meet every Saturday night for pizza and a movie. Yet even a casual look at the daily newspaper or a glimpse of the evening television reports reveals that all is not predictable. A plane crash in a  populated area, riots by settlers in  disputed territory, resistance by a populace against military rule, and a huge gathering to hear a singing group are all examples of situations in which behavior is difficult to predict and hard to explain in retrospect. 

This does not  mean, however, that it cannot be analyzed, or that those engaged in the behavior do not have an ideology, goals, and, at times, even leaders.

John Lofland has attempted to analyze spontaneous social events by first distinguishing between a crowd and a mass. A crowd is “a relatively large number of persons who are in one another’s immediate face-to-face presence.” For example, a crowd is any group of people involved in a riot; they can see each other and are influenced by each other's actions. Such events have occurred around racial issues in inner-city areas. They have also occurred at rock concerts where ticket holders literally crushed each other to gain entrance to an arena.

A mass is a “set of people who attend to a shared  object of attention but who are not in one another’s immediate physical vicinity.” Mass reaction turn into group formation when people gather together in communities to behave in the ways that show support for their compatriots thousands of miles away.

Lofland’s analysis also stresses that the emotions of the participants are a major factor in the outcome of the event. These emotions include fear, hostility, and joy.

Can you think of examples that characterize crowd fear? Think, for instance, of the panic that occurred in Cincinnati’s Riverfront Coliseum on December 31, 1979. Thousands of young people were to hear a rock concert by the Who. The tickets were mostly for unreserved, general-admission seats, and as the crowd grew to several thousand still outside the auditorium, the Who began to test their instruments inside. The sound of the music led to pushing from the rear of the crowd as latecomers surged forward to the entrances. In the ensuing press of bodies, many people fell, stumbled to their feet, and tried to beat off those who pushed against them. By the time the crowd had forced its way into the Coliseum, eleven people had died. Some of the survivors to this day remain traumatized by the events.

Other types of crowd events are based not on fear but on hostility. Examples are the race riots that have occurred in the United States, England, and elsewhere. Pent-up frustrations and anger often find their expression after a police action against a local resident. This can spark many hours of violence in which property, police officers, and individuals of other races become targets. 

Of course, not all crowd reactions are characterized by fear and hostility. There are many instances of crowd joy when thousands of people come together to celebrate and recommit themselves to some fundamental beliefs. It can occur at a musical event, where the sharing of  sound leads to the sharing of space, food, and drink.

According to Lofland’s analysis, the emotion of fear is also involved in mass reactions.  There is no better example of a mass-fear response to rumors, or unconfirmed reports, than the incident that occurred on the evening of October 30, 1938. A weekly radio program presented a dramatic portrayal of H.G. Wells’s classic story The War of the Worlds. Many of the listeners tuned in late and did not realize that the realistic broadcast was not the report of an authentic invasion from Mars. It has been estimated that as many as one million of the six million listeners were genuinely frightened. Many left their homes and fled the areas where the invasion was said to be occurring. In panic, thousands of others called police stations and military installations for a report on the danger.

The actual events serve as the example of long-lasting base for mass hostility. The Japanese bombing of Pearl Harbor on December 7, 1941, led to nationwide outpouring of anti-Japanese feelings in this country. Thousands of Japanese, many of them United States citizens, were forced to leave their homes on the West Coast. 

Mass emotions, like crowd emotions, are not limited to fear or hostility.  Mass joy can also sweep a city or a nation in the form of a musical fad, a popular fashion, or a celebration. The Beatle mania of the 1960s provides a prime example, when millions of young people gave vocal and enthusiastic support to a visiting group and its recordings. 

The behavior of masses can often be manipulated by those who wish to create fashions and fads for economic profit. Modern industrial societies are characterized by ongoing changes in styles of clothing, housing, automobiles, even jewelry. People who follow such fashions wish to emphasize the new, the chic, and the different. Fashion helps those who want to show that they are distinctive, are of higher status, or have greater income than their neighbors. Fashion changes also result from the continual need of a highly productive society to find new markets for the products of its industries. 

Exercise 3.  Answer the following questions to the text.
1. What are the differences between a  crowd and a mass? 2. According to Lofland, what are some emotions that cause reaction in both crowd and  mass behavior? 3. What types of crowd events are based on fear, hostility or joy? 4. What mass reactions are characterized by fear, hostility or joy? 5. How can the behavior of masses be manipulated for economic profit?

Exercise 4. Translate the word combinations.

To predict and to explain behavior; to analyze events; to be influenced by actions; to show support; to force one’s way; to be based on fear; to find expression; to become targets; to be characterized by hostility; to be involved in mass reactions; to be not limited to fear or hostility; to creat fashions and fads; to emphasize the new, the chic; to find new markets for the products.

Exercise 5. Make word combinations combining the words of the 1st and       2nd groups.

I: spontaneous, racial, group, crowd, race, fundamental, mass, musical, economic, fashion.

II: issues, formation, events, beliefs, riot, fear, reaction, profit, fad, changes. 

Exercise 6. Give English equivalents to the following expressions.

Соціальна подія; расові проблеми; знаходитись безпосередньо близько; перетворюватись у групову формацію; виявляти підтримку співвідчизникам; впливати на витік подій; ставати мішенню; довготривалий прояв масової ворожесті; маніпулювати заради економічних прибутків.

Exercise 7. Match the synonyms.

	Seek
	violence

	contribute to
	alter

	Change
	strive

	Force
	promote

	Event
	incident

	Surge forward
	rush forward

	Vicinity
	happen

	Emphasize
	nearness

	Occur
	stress


Exercise 8. Complete the following sentences with the words below.

1. John Lofland has attempted to analyze … by first distinguishing between crowd and mass. 2. A crowd is “a relatively large number of persons who are in one another’s immediate … ”. 3. A mass is a “set of people who attend to a shared object of attention but who are not in one another’s immediate … …”. 4. … turn into group formation when people gather together in communities to behave in the ways that show support for their compatriots thousand of miles away. 5. Of course, not all crowd reactions are characterized by … . 6. There are many instances of … when thousands of people come together to celebrate and recommit themselves to some … .

(face-to-face presents, mass reaction, spontaneous social events, fear and hostility, physical vicinity, fundamental beliefs, crowd joy).  

Exercise 9.  Translate into English.
1. Натовп – це відносно велика кількість людей, що знаходяться безпосередньо близько один до одного. 2. Маса – це група людей, що опікуються спільними проблемами, але не знаходяться фізично в безпосередній близкості один до одного. 3. Реакція учасників натовпу або маси характеризується емоціями страху, ворожесті або радості. 4. Емоції маси, як і емоції натовпу не обмежуються лише страхом або ворожістю, але можуть проявлятися у формі радості, наприклад, підчас святкувань, демонстрацій мод, музичних пристрастей. 5. Поведінка може маніпулюватися заради одержання економічних прибутків.  

Text 2. Social Movements
Exercise 10.  Read and translate text 2.

A social movement is a continuing, collective effort to promote or to resist change, to press the view that some aspects of social or political life are unfair or wrong and need to be altered. A reading of the daily newspaper reveals how much a part of our social scene social movements have become.

According to sociologists, social movements may be classified as pluralist, assimilationist, revolutionary, or secessionist. Reform movements constitute a fifth category. Pluralist and assimilationist movements strive to gain better acceptance for themselves within the existing society; reform movements want improvements; secessionist and revolutionary movements aim at overthrowing the existing order.

They are characteristics that all social movements share:

1. They have a distinct purpose or ideology and are directed      

       toward a definite set of goals. 

2. They have some form of leadership.

3. Their members show a strong sense of solidarity.

4. Unlike social fads, they are long-lasting. 

5. They  use  specific tactics to achieve their ends.

The main function of an ideology is to state the reason for the movement and to justify its existence.  It gives members a purpose or direction and serves as a source of inspiration and hope. Members also use ideology to defend the movement’s goals to those who oppose it.

Decisions have to be made.  Day-to-day work must be given out to workers and  carried through. Those who speak for the group, help guide its efforts, and serve as inspiring role models to the rank and file are the movement’s leaders.

Some  social movements favor a shared or  rotating leadership in which no one person holds a great deal of power or responsibility. Some of these leaders might have an exceptional ability to analyze and describe the movement’s ideology  or goals – that is, to provide intellectual leadership. Other leaders may excel in administrative ability. 

A social movement needs various kinds of leaders if  it is to survive and work toward its goals over a period of time.

Leaders must develop an ideology that can be communicated in everyday language. They must organize the long-term efforts needed to bring about changes in values, roles, and institutions. 

Although ideology may make broad statements about such ideals as justice, equality, morality, decency, or peace, a social movement must set specific goals that its leaders and members can easily understand and strive for on  a day-to-day basis. A movement’s goals are the specific changes it hopes to bring about.

Just as goals must be defined, so must tactics be devised. Specific tactics serve as means of achieving a movement’s goals. Types of tactics include educational tactics, political tactics, and direct action.

Most movements include some form of public education as part of their tactics. Supporters may issue leaflets, make speeches, or,  sponsor television and radio programs to spread their message to the public. 

Movement leaders often feel that education alone is not enough. In  such cases, they seek to enforce their views through the political system.  In addition to lobbying and voting for candidates sympathetic to the cause, they may hold mass meetings deliver petitions to public officials, and organize letter-writing campaigns.

The most forceful tactic is direct action, which usually means going beyond the normal activities of educational or political campaigns; it may involve taking the law into one’s own hands. Members of the movement decide who is “the enemy”, or the main obstacle to their cause, and take action against them.

Movement leaders frequently abandon the tactics that brought the movement into prominence , such as sit-ins, demonstrations, and other forms of protest and disruption.

Sometimes direct action has a potential for violence, as  when a group of neo-Nazis sought to march through the  streets of Skokie, Illinois, a community with many Jewish people who had survived the Holocaust, Hitler’s genocidal attempt to rid Germany and the rest of Europe of all Jews. After considerable pressure, the march there was canceled.

Exercise 11.  Answer the questions.   

1. What is a social movement? 2. What categories of social movements do you know? 3. What are the features that characterize all social movements? 4. What is the function of an ideology? 5. What forms of leadership can you name? 6. What specific tactics serve as means of achieving a movement’s goals?

Exercise 12. Match the word combinations in the left column with their Ukrainian equivalents in the right column.

	1. social movement

2. sense of solidarity

3. direct actions

4. source of inspiration

5. movement’s leader

6. public education

7. long-term efforts

8. administrative ability

9. public officials

10. main obstacle
	1. джерело надхнення

2. лідер руху

3. почуття солідарності

4. соціальний рух

5. прямі дії

6. державні служби

7. адміністративна здатність

8. головна завада

9. довгострокові зусилля

10. громадська освіта


Exercise 13. Translate the following word combinations. Make up one sentence with each of the verb-combinations.

To resist change, to press the view, to be altered, to achieve ends, to justify existence, to defend the movement’s goals, to favor leadership, to set specific goals, to issue leaflets, to abandon tactics, to rid of “the enemy”.

Exercise 14. Say if the following statements are true or false. If they are wrong, correct them.

1. Pluralist and assimilationist movements strive to gain better acceptance for themselves within the existing society. 2. Reform movements aim at overthrowing the existing order. 3. The main function of an ideology is to state the reason for the movement and justify its existence. 4. Specific tactics serve as means of achieving a movement’s ideology. 5. The most forceful tactic is to deliver petitions to public officials.

Exercise 15. Match the terms and the definitions.

	Social movements
	continuing, collective effort 

to promote or to resist change



	Ideology
	those who speak for the group, help guide its efforts, and serve as inspiring role models to the rank and file



	Leaders
	specific changes a movement hopes to bring about



	Goals
	distict purpose to state the reason for the movement and to justify its existence 



	Tactics
	means of achieving a movement’s goals


Exercise 16. Translate the sentences from English into Ukrainian.

1. Ideology gives members a purpose or direction and serves as a source of inspiration and hope. 2. Leaders must organize the long-term efforts needed to bring about changes in values, roles, and institutions. 3. A social movement must set specific goals that its leaders and members can easily understand and strive for on a day-to-day basis. 4. Most movements include some forms of public education as part of their tactics. 5. Movement leaders frequently abandon the tactics that brought the movement into prominence, such as sit-ins, demonstrations, and other forms of protest and disruption.

Exercise 17. Translate into English.

1. Соціальний рух має певну мету або ідеологію і спрямовується на досягнення визначенного ряду цілей. 2. Соціальний рух потребує різноманітних форм керування для того, щоб продовжувати існування і роботу для досягнення цілей напротязі певного періоду. 3. Певні види тактики слугують засобами досягнення цілей руху. 4.Типи  тактики включають освітню тактику, політичну тактику і спрямовані акції. 5.Основна функція ідеології полягае в тому, щоб встановити причину руху і виправдовувати його існування.

Exercise 18. Speak on:
1.Collective Behavior.

2.Social Movements.  

Supplementary Reading

Text 1.

Youths and their families


The United Census Bureau defines a  family as two or more people who are related by blood, adoption or marriage, living together. Most American families include members of just two generations: parents and their children? Through many extended families do include more than two generations. There are about 65,8 million families in the United States. What is the purpose of a family?


Experts agree that the family structure should provide emotional, physical and educational support. The role of the family in a young person’s life has changed in the past 100 years.


Families 100 years ago were large, partly because children were needed to work and earn additional money for the family. Now, young children no longer work and earn wages; in addition, providing an education and life’s necessities for children is very expensive. As  one result, American families are much smaller than in previous decades. In 1989, the average size of a family was 3.16 people.


In what types of families are children growing up? In 1989, the4 United States Census Bureau reported that while most families retain the traditional structure, including a father, a mother, children and sometimes a grandparent, 22 percent of all families with children under 18 years old are one-parent families (families with only a father or only a mother: the other parent not living with the family). Why? High divorce rates, separation and birth of children to unmarried women are a few reasons. In cases of separation or divorce of the parents, the parent not living with the children usually provides child-support payments. Most of the families in this category – five out of six – are headed by women/ and one-parent families headed by women are usually poorer than other families. In 1989 the median family income in the United States was $32, 191. For families headed by women, the median income was less than half - $ 15.346.


Some of these difficulties are relieved by government programs providing help to low income families. One such program. Aid to Families with Dependent Children (AFDC), helps poor parents with school-aged children. Another? The Special Supplemental Food Program for Women, Infants and Children, provides food to low-income women before and after childbirth. Still, poverty affects the way in which the children in these families grow up. Another change in family life is that more wives and mothers work outside the home. In 1988, women made up 45 percent of the national work force. And 65 percent of those women had children under 18.


What do American teenagers think about their families? According to a national survey taken during the mid-1980s, between one-half and two-thirds of all American youths have a “comfortable” or “happy” relationship with their parent or parents. Their traditional disagreements are over such things as: curfew (time to come home at night), whether or not to attend religions services; doing work around the house; and the friends with whom the young person spends his/her leisure time. A survey entitled, “The Mood of American Youth”, published by the National Association of Secondary School Principals, also indicates that the majority of young people agree with the opinions and values of their parents.     

Vocabulary

Census – перепис (населення)

adoption – усиновлення
earn – заробляти
child-support payment – сплата та утримання дитини
median income – середній дохід
dependent children – діти, що перебувають на утримання ні батьків

poverty – бідність

affect – впливати

survey – обслідуватання, звіт про обслідування

leisure time – вільний час

mood – настрій

principal – директор школи, голова

Exercise 1. Answer the questions.

1. What is the role of the family in a young person’s life? 2. In what types of families are children growing up? 3. What government programs provide help to low-income families? 4. What traditional disagreements do teenagers have in a relationship with their parent or parents? 5. How often do you agree or disagree with the opinions of your parents? 6. What is essential for normal physical and psychological development of a child?

Text 2

The typical Ukrainian woman is unpretentious, hard working, sacrificial and patient. She keeps the house, cooks tasty meals and makes both ends meet when the family faces financial hardships. She takes care of her husband and children and looks beautiful any time. These very merits of Ukrainian women have a remarkable thirst for knowledge. Half of the country’s higher educational institution graduates are females. However, many Ukrainian women say they lack time for self-educational activities, e.g. attending professional training courses, going to the theater or cinema, reading, etc.

Just like the Western woman, the Ukrainian woman enjoys shopping and laments for the lack of fashionable clothes in her wardrobe. She likes to chat and sometimes gossip with her friends and is often jealous of their professional and amorous successes.

However, unlike Western women, women in Ukraine have a greater desire to marry. The main reason for this is the lack of independence and social guarantees for women in this country. Most of them are afraid to remain without means and care at old age or of  becoming unwed mothers. Besides, local cultural tradition teaches Ukrainian females to have deep respect for the family and family values. Finally, Ukrainian women have always viewed marriage as a way to improve their social status among other things.

An average Ukrainian woman is not interested in politics and does not take the women’s movement seriously. It would be wrong, however, to presume that Ukrainian women feel absolutely happy and comfortable living in a men-reigned world. To survive, they have to develop some genuinely male features. Traditional feminine vulnerability and sensitivity are gradually giving way to masculine ambitiousness, energy, and straightforwardness.

It is not unusual for Ukrainian women to take up men’s jobs. Today one can see women working as builders, sailors, pilots, public transportation drivers or road construction workers. In fact, it is a widespread opinion that representatives of the fair sex in Ukraine are more career-oriented and often more successful in business than men.

Nevertheless, of Ukrainian parliamentarians, only 4 percent are women. (For comparison, in Sweden 40 percent of MPs are female). Very few women have occupied high posts in the Ukrainian government since Ukraine’s independence. These were the posts of vice prime minister, minister of justice, and deputy prosecutor general.

Of course, it is frustrating that women in Ukraine still suffer from the lack of social guarantees and, to some extent, from sex discrimination. Unfortunately, feminism, so widely spread in Europe and the USA, has not found its way to Ukraine yet.

On the other hand, I think that women underestimate some of their advantages. Nature gave them a precious gift – institution worthy of any man’s genius. Women should not forget that no matter how much power man has, he is in woman’s hands.

Vocabulary

Hearth – домашнє вогнище

financial hardships – фінансові труднощі

merit – заслуга

female – жінка

lack – відчувати нестачу

lament – жалітися

chat – балакати

gossip – пліткувати

jealous – заздрісний

unwed – незаміжня

reign – панувати, володіти

male – чоловічий

feminine vulnerability – жіноча уразливість 

masculine – чоловічий

deputy prosecutor general – заступник головного прокурора

suffer – терпіти, страждати

underestimate – недооцінювати

precious – дорогоцінний

Exercise 1. Answer the questions.

1. What merits of Ukrainian women are distinguished to be magnetically attractive? 2. what factar4 influence the social status of Ukrainian women? 3. What do you think of a widespread opinion that representatives of the fair sex in Ukraine are more career-oriented and often more successful in business than men? 4. Are Ukrainian women interested in politics? 5. How has the position of women changed in society since Ukraine’s independence?
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